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o) sl o qu scdl & 8. B
wBiHl -y Ad wBuasuidl DAusui udl
uRaddn youdl wlEa v Nuorsiefl uldusui
2l WRadA woudl ulw 58 8. un, wRadl
WML yowl A wlkowdl uBasl Add
acl 2wl Slu B A wuAA Agad, ia
aRud 8. Ut AL Ui WEUSL 2 {luA-u
FaaA didad Bse 58 8. a-t 3[@ma sweilde-u
oy il Glal drsin Raend-dl uBa {2
wiidl suldl usw :

CaC0y, T2 CaOy) +C0y)

oy, usii udl 2idat uBwlAL Adan
A Asan 4ol yAoudl A wloudl uBuwil
adl Sl gan alela €l 8, BER 3 b
AR. Guasll uBumi CaCOy [ued uf CaO
wd CO, HNAL dul CaO »d CO, d{lAs
CaCO, el Udd Ag % € 8. W & »uudl
WML oistl vl ey Feal Aul edla
dedl % WAL £y Guidlal, dl vidmi Ga-
R oRudl. uig eRAY AL A GUR Aswa
Aadl ¥ el ois vig Ag (Operative)
ql dldella 2wl ws. AR ¥ oy (Closed)
waudl @l (Static) Aga--dl olialla @oua
sl sl gl suy 8. odl IRA wnulAsHl
el d Al s wsw, FuE MC IRA
wRAMs YR1adl 14C0o, 4y w4 CaCo, & %ei
Wl danii vid vid CaCO, [Qu2- uf “ad
CO,7 @l 'CO, Huadl wist wé sl
214, dl 245 UHY Gl CaCO,wL WMl Cal*CO,
2 M4CO, “uddl il CO, Hadl. UM, A
Agad AR €, dl 12C vid e [y udl
Aol AR, Yoy 562l ueedl IR AUl
Wl Adast-it audslla weua-dl Wl Aadl asy.
A 3 A AHA UBUS A lus-l Alsdiu
WHIRL 2A0 8 8. UBASL [eud 2 Wby
URREAL v wiE sl vaal Hdl € ad.

Agart UBHA AL w8 Qe adll
usl

(@) 2l uBadl % aoeol yel adi-l sl
Sl 8 i wBusil Algal l8aq W B, Jeaus
Brauplil 2 lBs d wrvd asy olnd el

(i) 2l UBUD FHL ol L9l WAL
fluer o & i wBusHl Hlel ool $$IR 92R
Aqad Rl 8 8.

@iii) vl uBwel ¥ i wBusdl Al
dgad Rl Ayl digdi qarios el
€l 9.

4.3 ddar W5 (Types of Equilibrium)

clRs Agant : ellas usnAl JuidAui
WwuAL Agara ollas dgan 58 8. ela., weld
QRAAML 3ULdR

Auul@s dgad : vy wBalui
Wwdl Adar Amulds ddant 8 8. eld,
sl@un sl [@ued.

ollfds usnal Aga : Rad awud oy
weni (ueuell) dlfal uadl stazaming welly
MU ol AU vaal weldl auadi uidr
i B, A0 ot el well-l wwdl u
welldl ol Aisdl addl wd & A yadl
wiell-l uigdl vedl wy 8. 4l aHa oue well-dl
sl AR 2RUURA WSS wel uadl
vaze welil 3ulde Wi 8. 2um, yowdl -
wiowsll oid wBwll ALY W . s ANY Gle
wellmiel well-dl susy el Qo0 wiA well-l
oMzl wedl wiell oircidl dou AL w9,
o el wawdl well 2im well-l ousy a3 Agan
AL B, B WsRAL et oy Agant vaa
olifs usi Agad 58 B, L USERAL UsHUL
ueldAl L ANABLE ol4RAUL FFIR U
adl. vt d-l ollfas sal ssa 9. wielluidl
well-l ey oirtandl Aol ulBad wsilg
ounflotad 58 O A well-dl eusyuidl wad
otrtelill WlAoLAl WA o wandlsae 58 8.

siafloyan H.O

Sl 200

dganil Well olllas UBwnl ousa wRoeil
ol & dludiq, selldl ¥ Alsdli 3§12 sl
Agart RAMML 5812 w8,

H,0,

ueldy uidR ud, uadl 2 qiyagzixi
vIRUURA g el clllas usM Adert ASL iR
_UY B
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(i) urt-eudl usn AdErt : s wRHIY SRS
(e weuell)di 0% (273 K) cluidl 6§ i
dld well @l ¢d uHlA gaRs ol A ey s
£l df el 8 d WIS A gars{l yruasia
wRladl glaeAd 518l win sarsAidl weudl
we ogl valael a2 Guidl AR 2l «l.
wiefl I gaRsHL AL tiRgxlL FRll AU W
8. uig os i well a2l Agan rwdd ¢,
¥ A wudl ealdl wswy :

H,0, = Hy0,
o128 (unt) wefl (seudl)

WEAIBLs A wbid 28 354 8 F Ay
SARSUL AdArl /UL 6UE UL 6REL hadls
iRl wellul 3uidR iy 8. d o wid well-u
dedl % wRaild oRR&UL WAk Wy 8. wuel
A SARSHIAL 6% il welldl @il vl
QAL AvAL AN WE B, WY, WL WS NS
22d ¥ ud A yawdl a2 ollas Agaq 8.
Bl v AUy cuold B 3 wumi uedui
RS 38R udl A Slusll o usy olllas
Agand Gesaa 8.

(i) wendl-any usu ddad : Fad awuA
alg oly uol (weudl)di well el uHy %di
AL Yed R R A0 weld well-l
ousy (ARIA)HE FUidR =l FU-FH olsU] WL
WolHl qdg %A dddH elduestiRil qHRL udl.
kedls auy el i M dlael sumgons
AN 6l A BOURML $$1R AdL w28l wA dl
GUMESLBLY SIS AN AL udl. v dAqad Rald
A wwEl euldl wsi ¢

HQO(D — Hzo(g)
wel (mendl)  wellsl e (uy)

L UsH oMUl AL oin weudldl sld
Slaedl Jears welldl sl welldl swsni
3uidR 2dl. d % uMd dear o welldl susw-u
iRl Rl 3uidR udl, vuel oiuuisiil well-
i wielledl slsurl w19l weL (well) R0
W 8. 2, ouadl (well) v ay (wel-
ouny) adl- Bs UsRe ollds Adart B, v

Qaust olleid 3 B 3 ueldul wwARS FwR
adl + el w0 wsd ey Agart Gelsw 8,

(i) 8- slamnl [Qauq Agad : 2u usr-
Addrivdl 2eu M2 8 veld wig A d-il
wsllHinL glastd Gergral 4 sl Fad drus
s WAl el well dl. dui A3 vig GARdAL
owil A glalld edlddl Bl AZBUAHD wig
vipatofl sl UG FH-FH wilseil el quIR GARq
o9l dlM-dd Wis d«ll gleddl umisl ol wellui
Ayl adz ¥q a3l udl 4. slasdl
maRed Bl Al glael adly slavla bl
uig i usuelii g (wig) wA uadl (Wi
Qlam) 423 Agad Wl €y 8, ¥ A wwel
suldl ws :

Wis ) = widdaan,,
U uadl

UG o sal Wl Agad oRella
Q1S Guarll eds uenellui ydousll A ulaousl
WEAA A Alg, ¥ WAL 21 weudlii uat Feal
wHMl wis 2, dedl ¥ wHWeHD widi
graisl vis 2l usal. uel 2w weudlni ust
Vgl 2R i gl vl wely il
dAvur (eal) wud WAL

(iv) wyd slaRil Adar @ Fud dvas
e, 2ol8L Vs ol Ulot (Meuel)ui wiellmi »oidial
stelrl QalsuLds alagt asul B stot JlsSe]
gagl dal sl SAlsuss iy wadl weudl
2l wsla, diumid 2 gouel Fud dlaiyl siel
QULSULOS Al B6URL A AWAMIAA AUq3Y Gld
uf glell ol A auRldl seld QUisRUS
Ay d-dl wE Agandl WA, Aga alela B
adl il weueldl sl QAisABAL Feal il
wellMi gl 28, deadl % wHleHl wellHidl gie
adal sold SulsUSs Ayl 2l 4sd Uil
23, i olt uelellal wellMi 2llasal v diyua
R WAL Slel JAIRUSS Ayl Yl
(22l) wum 284, 20 dgad 1A wudl suldl
wsly

COy) = COsg
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Gul Fell vicwd sl d ol ¥ wsudlil
wdl wsMHl ollis 5813 % udl el 4 «bi
allfds wsH Aga-i-l Gelswl 8.

(V) Brl-cly USHHI Addnt @ adl el oL &
bealls urt uglelldl 214 Sl ol Ay BARAML FRAUY
B A el il A=l Ay waraumidl 8-
wiaMl A 9, d Bu Gleduid- sd 8, 28l
wilrl Agarirl 2edA WE dd 2uHRA (L)
Gelsrel adwul. s olauwpil (wendl)ui =g a-
AR @B 2 dA 21RM 5303, dl [Fud divsun
AR gl d-l ey e, ¥ sl o
qiy a3l wuel. Bl diumi [Mad 2@ dl 2R+
fet 2 BUARA ol (ary) a2 Ada-t JWULEL. 2L
olllls usd Aga 1A wusl euldl asy :

L = Iyvap)

Bl Ay

Adan alaslla dlaell, >0 Fad A
de AR Feal w9l () 2R
oMl 3UidR L, dedl % AyHy URHAL
20 (2l) Bel UWARAHL 3uidR 28, 23,
ol YolHiAl 0ARAAL (3l dul aypazyu) el
v 4L,

sres 4.1 ellds wsu Agaq-l s2dls vulRud

UsH arzaell (vulua)

) nadl = Ay
H0( = H04,

Fad  dudid pyo
v GlA B,

2 = ualdl
H,0, = H,0,

[Faid eeusl seilGig 2an
€1y B,

@)at = g8l
Misy = i A9y

(M dreis sieadl Aisdl
GlaRPl M d 9.

@y = Ay
COysg = COyap)

Fad dlysid »odal
Ayl Alsdidl 9Ll
AN Sy B,

4.4 olfAs usuni wwlre Agaqdl wm
szl (General characteristics of
Equilibrium Involved in Physical
processes)

wouB -0l Al s A olfas usHl w2
Agaril el weudlpiini Al as@sdil
ALY D,

() [Fud drsud oit weudldl o ged wsd D,

() ol wur @A wsHl ed & yloudl
win) WleauE wBURAl Bsuvil Qo ey 8.
adl Agad alella 8, ua @l 2wl
FEr uBRER da 8.

(i) weuell-l wun 530 Astd dal ot o Rl
wAN W D,

(iv) ol usd HI2 U Aqad W sl
wid &, A3 FAad diuHid ddl wWReniaisl
s HAL wAN W B, Ses 4140
ol wel suldl S,

(v) S usl doiss 2l Al (Quantities )+l
Holl Agant udiudi udai 32d 14 (Extent)
olllds usH 200 dfla & o euld 8.

4.5 auulos sy (uldw) idart (Chemical
Process (Reaction) Equilibrium)

elllds wsHl-l 2Fx wwulRs wsHl
(Wapl )4l vl Adan-sdel w8,
v wBal yroudl @A wlaoudl @i
wsoflonell [A3e Rl adl €, Al Agad
R W A B 24 ol uBEudsAL 921 wul 2y
D, wuell uod 2 wBUS- Uigdl wAN W B,
YRS A s Adar-dl Fu e €y
8, ed ¥ uBusiq lusHl 3w s v
UBASHL UidR A Alg, % Sl B vt wRud
weneldl el o wEusl A dlusl sz S 8,

A sy Wad! nBal @R 532,
A+B=C+D

AUHAAL AR Aol WAL lysl C wiA Dl
b3l wd O dul wEUs A v Bl uedl
8, % sl 4.140 sulda 8.

m““&

Algdl —>

A%qqlﬂ

Juy —> Agat
gl 4.1 aulbs igand wld
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A ywul Wl dami galdl 2in dlaousl
uBal doi awidl euld 8. wWelollagud oid
WFasll wut Qo wy-cud usudl Ada--
v yeld 8,

Y2l % GURASA UBUL $5d «ilu C x4 D

ad A3 s dluRL Agart drAl Wik Ul
Ved 3 uBa ol A Ruwmisl adl €l dua
dgart avs udidl X 8.

Aafs gl aldslla acuq @ afdla
@oia dorRfEMel UMHAL ollddidl UsMHHil
Gelsel glal MER 530 wslal. JuAsala- »ia
JUSISNrL stid vl Gl diuMid A
gogl Avlld Asflotg WAL gkl Rad »iaud
(Interval) 12 el WHUFALL el 58] scuul
il wBul Al wslar Ui wi-
SASLOAY AL P2l vl 551 53 wsiaL. daiddl
drel sty & uBusl A fluwl sas-weal
WHIRRHL €lal 9l yeL Agart qud adl Al
BAN W B, GIURBAL VL AN Aerrl oUlelle
|ea [MEL 8. A w2 wllFaHL Asdueiu
SO oied SuRRRUM (D,) Wl dor-
QR waEl 20ML Qi otrlaadl sn wedR
sl ud, dl Gudsd Fai o uRawdl i 8.
Bagii N,, Hy NH,i #ed N, ND,, D,-i
wHIRl 55l 53 gt W ud uk 8. N, i
Hydl uBael 2iiMRw o ugl D, Gl
2 dl WEUL udl A WSu, uig NH i He
D 4} [rRauq gl ND, wid adl. Dy 2iq
ND,q 4R e 2lsgidfledl s31 asin 8.
WiH, WA 8§ Wy 3 Ny + 3Hy = 2NHy
wEal wEusill Hluel s wid duaedl wBas
dRe 2ed 3yl 2 sl wBal udd
Asavil Aol udl o ¢ B, dddl o NH,A eled
ND, dadl usiy 8. Wl Wwralisdl Gudlal
s3A uel Agant Alslle 8, du wlia 530 ws
B Hz(g)"'Iz(g)\_—\ ZI'H(S) wBudl aladla
Agart-il Wi AR ARA-uHRas 1P
ad s3] wusiy 8. M, udart dlild da siRel
Jeals apaidl vual uRell Asusis weuy 9.
gl.., 291l dlgtdl, 20 solsl, w1An Algdl 9913,

4.6  RABS Agatd Ruy 2 Aga-2anis
(Law of Chemical Equilibrium and
Equilibrium Constant)

WGBS 2wz Agad RERMi-L Fusa
dgart-Fiael s¢ 8. vl Aqad Rkl uBus
A fluoAsl digdl dar dudl adl-a yoibsdl
LI T TIET

YA 3 215 A wRadl uBa A wuel @ :
A+B=C+D

il WBAHE A 4 BA wBusl s& 8 v
C 21 Dol <fluatl s 8 20 Bl wBust a4
{ugiel dlg As-as 9, M el A, uig oMl
o uBAML 2g 4 i, dedl du-l W salaa
o33l 8. Aqfaa-uBa o el v sl sa.

B Ny, + 3H,, = 2NH,..

el el wladl WGl Wb vew
wel Aid-l dsufsl speserd] (Guldberg) @A
qidl (Waage) 186431 euiiy ¥ gari-Bussisin
vetell-l ulgdl 0d- dga-wlsel eald
sl

_[C1D] Ayl igci-dl Lusr
©T[AIBl  wBusl-l alsdirll e

wul K, dgadt waais 8. »A [ ] Su ubus
viaal -l Algdl e Qe ! saal Mal sald
8. Agar wilse uBy ea () FHad ddld
el el 8. sReL 5 Bl a3vidHi
aului digdd ‘Uly so’ sdami ad.

UG ¢ SIS s MU UBAAL Agan
wANLS Wi wHlseL Guandlal. Wil ¥ 1S A
WBal A wHel a8 ;o Ful uBusl A
flusdd dudl 4y Wid (a, b, c wudl dud
AHAd 23wl euldl 8.

aA + bB = ¢C + dD —(4.1)
aesord] 2 AL RUHAL 203
youHl Bl 4oV, « [AT [BI°.(4.2)

eV, = K, [A] [B]°..(4.3)

il K, = Yol wiaidl mseidl »uais 8.



98

e

wRowdl WEA-L A9V, o< [CI° [DM..(4.4)
wadl V= K [CF [DM.4.5)
i V, = ulaeusdl uBai-l aspssidl 2iaais 8.

Aga-t aid yAeudl A Wkl uBa-u
QoL Al aw, ddl V=V,

RA2d 3 K, [AF [B]° = K, [C]° [D]®

K _ermf

. =Ko i 4.6
K. [AF BP ¢ “.6)
K
Wi Ke=gg-

T

2, gl WK Al AR S uRL WBami-u
UGS il luod-l Alsdl dat dx dradiofidy
(Stoichiometric) 2L21isl ~1551 5351, dl Algcl Agar
s K, Hadl us.

Zedls wlbuipidl dqaq wanis A

golon & ¢

[HI]*
[H,] [1,]

() H,+ L= 2H K=

() N, + 3H, = 2NH, K= INH,
+ — e e e
VNi¥.3N, 3T [N, [H,F

(3) 4NH,; + 50, = 4NO + 6H,0
_ INOI*[H,0°
[NH,T* [0,T

28 Hy 14 1, a2l uBa @ Q.
2l uBwA A wud avll asw

Hy + Ly = 2HL,, (Budtell flust :¢)

C

2
K -_HI

Y [H,1[0,]
ed uBa 03 wnwsl avlal
2HI ) = Hypy + Ly, (-lwosell uBBusi ae)

@7

v _Hy] L]
2

~SK =
[HI) (4.8)

C

yilswl (4.7) 4 (4.8) isolloasil
udlu(ord) 8. w3 Ke = /Kc adl. wa, Yol

UG Aga suais, waowsdl uBu-l dgan
waRisd wdlu (ord) 8.

Guadl uBa A wadl we avll asw:

1 1.
EH%E) + Elz(g) - I‘H(g)

L WAL Agat waais quld, d

! [HI]
nKg=———
[H,]? [,]?
. 1
(HI® 2
= 4.9
[[Hzl [121] G
' 1,
-~ K, =K_2
WBuL Hy + L, = 2HI 4 n ad i

nH,,) + Nl = 2nHl,
dAgad-vanis = K oudl.
vyl ~{la wHEl Aol avil wslaA :

ufds ulnd allser  [Rigad waais
aA + bB+—= ¢C + dD K,
c 1
cC + dD = aA + bB Ke=x¢
(maA + ()bB= (n)cC + ()dD| KI =(K,)"

EMAL 1 : 400 K dludid a5 oin Wi
A wBur sl wdl B

Hyp + Ly = 2HI,
Agad Rulvl aidglon-dl aisdl 0.6
Ha 2!, 2R Algel 0.8 *a [e! -

S5 LS4+ Algedl 0.14 e @z oS
8. vl UBAHL Aga-t vAals LRIl

Gda : wBa  H,y, + L, = 2HI,
dAga Algdl :
Hla [Rex! 06 08 014
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: ; (HI
as K, =———o
Agart A T, 0]

. (0.14)?
~ (0.6) (0.8)

= 4.1 x 1072

KA 254 g ¢ ? [QaRl 217 asril.

Ay wBal o Aigdl Qewslla (ills)
gonel eulaqil 2ud, dl digan 2aais wBud
A Alugiqi Qewdly eoust urdl Hdadl wsy.
Al K, adld eula 8. 2uud 3is s wBud
RaR sdaid.

aA DB = cC,+dD,,

i UBAIAUL WS 2R {luoddi Boeudlly
2ifas el qsd P,y Py Py A Py a3
galdlal dl Rigari-saais K wdlse -3
wuldl euldl asu :

d
_P&*Pp

=K =
P4 *Pp

p

47 K, 21 K, a2l ey (Relation
between Kp and Kc)

P * Ph
a b

2R Ay dH K, =
Pa * P

(4.10)

ol iy uBwdl gaq aais suldl as.
uig wwvel onellal ¢lvl, d wE Ayl Wel
wlseL WAIBL pV = nRT 8. el avil asy 3,

n
- p= L RT=CRT
P=5

(o1l %: = gl et R Gur-
Alsrel 41080 pril qell Hsdl avil usiy ¥

- (CCRT)° (CHRT)?
P (CART)® (CRRT)®

_Ce-Ch , RD™M
Ci+Chy ®RD*™

(4.11)

_ICE DT | pryerdr-n

" [AF BF i

=K, « (RT)™* 4.13)

Ul An, = (c + d) — (a + b)

ved aiyua luz-l ga Wadl v —
Ay uBusil g Wadl Ava

well vl wsia 3 K =K - RT)™..4.14

wowe uvg w3l 6 & ary wEuei
golel el Hval u MR AN B, WS Al
(ouoly et du-ll isal daud 8. eouau K
il Kol Rl Anri yel-u declui 3
wud avll a5 : (1) A An, =0 AL K, = K,
(2 % An, > 0 &l A K, > K, (3) A
An, < 0 dl K, < K. £6u8i-il 54l dlclarel
adul lul uig ST s WIEL URSEML A 8.

gl 2 : 1 e H0 24 1 ®a Co
agaild 10 Readl oy wisii 725 K diudiA
JRY SAUML Il Addd ¥HA H,0U 40%
(enell) CO ay ad A nasl B 5 6.

I-120® + CO(s) = H2(3) + COz(s)
2 UBAL Aga-vaais Ko s K ol
G :
WBw : B0, + COy, = Hy, + CO,
A3vlct-ll Aigdl

Wla (e !
1 1
10 10 0 0

dgan Alsdl e

1(100-40) 1(100-40) 40 40
100 100 100 100
= 0.6 = 0.6 =04 =04
Aigdl Ml et
06 06 04 04
10 10 10 10
= 0.06 =006 =004 =004
- H,1ICO0,1  0.04 x 0.04

ed, K, = 0.44

~ [H,01[CO] ~0.06 x 0.06
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€ K, =K, - RD)™

i wBaH (awyia fuaa Hesdll dva
— au-uBusi dadl dva)

(1+1)=(1+1=An-=0ad
well, K, =K, «RT)’ = K,
well K 2 Kol jedl vl 12d 3 0.4 adl.

s:mei\ 3 & Hyy + L = 2HL, B
Hi2rll Ager-Anls 700 K diwiid 54.8 8. 2igas
HI{l Algdl 0.54a Re! 8. wa i wBu
HL, @84 sl wudl €, dl ddan Hy ) ¥

L scl oldl.

G4 :
widw : Hy, + L, = 2HL, 2

K - HP _ 057
¢ T H1[0,] T [H,,]
A=A 2 54_8; _(0'5)2
e I [Hz] [12]
0.5)%

= M) (L] = (5pgy =456 X 1073
uid ddad [Hyyl = [L] il
[H,]1=[L,] =v/4.56x 107 = 0.0675 Nele!

gl @ K, K, 21 Kgaddl eiy
Buanal : Kl x Wi viaml sl eald 8. Y- :
Sleerivil [Beuaflu eopairl iy wausl o weudls
46 eolRl Paldiael €, dl WBusl A v B dul
Ay Cud Dl [Rowellu souell 2usd X, P,
Xp'P, XooP 2l XpoP 28 24l X e v 8.
il Guaol 431 1A Aol Guoadl.

K, = Ky *P% w1 K, = K+ V™%
4.8 AMABLS AgUt-iL SR (Types of Chemi-

cal Equilibrium)

Agart-l 6L WsR B ¢ (i) AHIdL Ager »
(i) [Ewaiol Agan

() ¥Hid Agat : uuid weudlui st ¥
wEusl A ol o Nuesl Rsuell se (Phase i

Sl 8. ¥4 UBUA AUt Y A e iu
ay AAAl uBuel oddl e 2 wa
URHH sAML €U B. Ny + 3Hy ) = 2NH,
vl uHel Fuda sifed walasuy-t uat
oL Addd B, SR8 adi uel uBusl A
Aul s o sl (Mawdl saui g 8.

CH,COOCH,, + H,0, = CH,COOH,, + CH;OH,,

il Guald Fe?t 2iar qauddl weld sl
SCN™ - H2ladl wely glas ad-l B
ueL AL Aty Gelswl 8, uig 3 dedl 8
5 oaul sl wmial Agadt 8.

Fegy +SCNp, = [Fe(SCN)Igy
Al U 2L BEHHL B W Y,

Sl UG ddd WBWBL v due
Aggart-vanisdl 2l 3 A ol o Aol Agannl
GelgRell 8. 2uuRl il @adi K, K, » Ky
Al Aol wal Guaedl. Ko yed amal we
sapimi pirm fLo Y aNsaias safad el simim 3
SULLSL VX \Ddl) =iIfnl Bty oluel, SNkl 3
gollel HI2 WHLBLIA RE[AE 2153 ok 8. uig SI
AsHHL wRse . il azd AL Aely B :

1 ursd Pa = 1 Nm2 (=yed {172) 24
18R = 10° Pa

UMIOL Aardl UBuiAL Agad vanis
ol AL A sl AHD,

Bl 4 : PCly, i Cly,, -l
AR wEaE] oy el PCly,, Aadan
vl il wBUwi 500 K didii PCL, CL, vi-i
PCll dart Aisdl vqsd 1.59 M, 1.59 M 211
141 M Hofl, 20 uBaidl digand »uais sl

B :
W : PCL,, + CL, = PCl,

__[PCl] 141 !
e T BCLIIEL] = 139x159 — ouexll

QAE L uBa w2 K, Rlal & dl,

K, = K, RT)"s Wl
K, = 5.58 x 10~ (0.0831 x 500)"!



dgart

101

51201 3 An, = (aigny luzi-u Ha-dl dva) —
(cuya uBusi da-dl dv) =1 — 2= -1

558 x 10~

~ Ko = 10,0831 x 500)

=13 x 107 67!

el 5 : Sadld A AARS RS A
HHl sl 2zedlsel uBu adl Sada ARRe
HAL 9. WXL 3 o uBusi 1 Ha AARs HR
A 0.18 Wl di-dld daui UM 8, Agd-
A 0.171 Hlda dudd e Ha 8. 2u
slredlsael WBAAL Agar-vianis gl

G4 :
ulw :

CH,C00H,, + C;H;OH,, = CH,000C,Hy, + B;0,
u3xila-dl Algdl
1 Hla 0.18 Hia 0 0

A Algdl
(1-017D)H4 (0.18-0.17DHe  0.171%e  0.17138&

0.829+\¢t 0.0094e  0.17130e 0.1714e

_ [CH,CO0C,H;1 [Hy01  0.171 % 0.171
¢~ [CH,COOH] [C,Hs;OH] ~ 0,829 x 0.009

= 3.92

Al 6 : WBUL 2NOC ) = 2NO, + Cly,,
W2 Ager qANisy K qed 1060 3@t dus
0.033 aiMwy &, dl 21 WEUL UR K f He
beg udl.

G :

uld : 2NOCl,) = 2NO,) + Cly,

gL el edlal d wusl

K, = K, (RT)*"s

= (NO, il e + Cly -l Md) —
An, ® L
(NOClyu *la)

=Q+1)-@=3-2=1
Yell ysdl 0.033 = K, (0.0831 x 1060)"

_ 0.033
°~ 0.0831 x 1060

= 3.7 x 10* qalyey™!

@) [nnia dAqat : uldusl »aw
Quanaidl A4S el ueldl Rg 53l AR SeU HRuAd
QU ddl dgaqd [Quuion dga &8 8. oy
il well (watdl) A wel-dl aua (ay)
q2d) Aga- [Ausiol dgan 8.

H,0¢y =Hy0,

3 % widl Ca(OH),,) = Cagy, +20H,)
uelL [Quuiol Aqadd Gelewl 8. (8 2 waudl
a2+ duga-) i -iug %33 8 ¥ 2 ua-dla
Agars Geleal 6.

A Ad [Qumion Aganl e 82t v
ol dsouden ¢l 8, Ruaial Agad- uBus
A {lus-ll Uigdd 2uudl vedt wdl wadlal. I
3 e U vl wadl veld-l Algdl d-ll and
i B A Fud diusin wettlHl addl 29 $lu
8. 112d Algdld uel viam 2l wblB HuaAL €1
2edl Yo 4 3 nawdl uerd-l Aisdiel @da 28
8. Wil 3 8§ ueed X 2l dsalda 8, d X
wd X el Algclzll A3 A Wil e € dl
wel ddel AN AuMl A B, WUR X A
Xl disdlzll seaid 8 2 d s wd
SCIBEIEE

b@wn selidenl Gwly Qe Gewsa
ada.
CaC0y, =2=2Ca0), +COy,

ciradlolfFH AL 2R [ANHIPL Adant 2mis
szl avllal d),

_ [Ca011C0,p]
e [CaCOy) ] 4.15)

wouG Aul 53 d wHwEl CaO, 4
CaCOy, trl 2araul dlaugll sl disdl dusll
ardl Fedl A wsiy ¥ed 3 vam WA, 2udl
Gua wllseel A wwEl avl any
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, [CaCO, ]
oyl K, = m
Wil Pgo, At CO,l Alsdl A goust .
Guisd uBa-l Age- »Aais 1100 K diusis
2.0 x 10° Pa %oud 8. »dl K, = Pgo,=
2.0 x 10° Pa. d-l 6U¥i $30di

2x10° Pa

e =20 4R
1x10° Pa/oliR

e And #3Rl 8§ [Aunio Agannl
de Eal Yl dRlL eunRAMl Gl dlusl
Auell digdl viaal »ifs soum Aga- »uaisii
olRudl ~iofl. FHY

Agzo(s) +2HNO3(Bq) —— 2AgNO3(aq) + Hzo(,)
wBul w2

_ [AgNO, ) I’ [Hy0())
© [Ag,0,] [HNO, .1

S{agj =

- [AgNO, I
[HNO, ) T

5R% 3, [H0,] 11 [Ag0,] = s udl.

4.9 RAdall cimlBsdizl (Characteristics of
Equilibrium)

(i) Auls Aga- el wendl opinadl
ol 3 91, Alscl, L6813 cluMld AN
20 6 2 o Weuel-l AU [RrcHl BsuHIA
dlu 89,

() AWABLS Agart Wl W A YA
i Wil wEailAal ot AL Ay 9.

(i) AAAMS AeAd 2 sl WReol Fal
3 Uigdl, soll8l diudld <9y elgeld, dl
Agart u drll 22 W 8.

(iv) wBusil uz2ud-dl Algdr yel-y€l €y, dl
ueL Flud i Adan-2anis s 8 9,

(V) dii dledldl Adar-wAais] 1
oedld 8,

(vi) el i 2 uBa doll sugel wxel
azs (wBusdl luw dig) waar wuel
ougell slofl dzs (luwedl uBus) drs 53
AslY 9.

(vii) dgdt 2aais R Gelus-l 6 waR adl
Aefl, defl flusig wsL isuv| W B,
uiq ddart wid sralel ua-n doL a8 &,

Agart wANISU A5HL : Agart uais KA
ealadl =2 Algdl e 237! Aqaa M a4 K,
uiRsd Pa, kPa, 6UR idl Aldidrel daidl »ud
B, Ul 2L WS YU Ul via i Be Al
U, ol AsH A W AL Ada- AL AsHQA
ol v Rl 1 oirfl . uig A dradlolle
Wl gel-9el ueleil-l Algdl dd 2q3u a@viaii
wid, dl wisd sivd . dedls uBUuil vid dedl
K-l 25l 1A salew 8.

ulbul ERTET)
= GHL v sHARd
Ny + 3Hy = 2ZNHy,

(e [z ~1)?
(et Rz ™) (e e ™)?

= (N R )2

CH,COOH,, + C,H;OH, =

CH,COOC,H ) + )0 54l

aw@ 7+ COg + K04 = COy) +Hy
UBuLrl Agan-2unis K, 810 K diudin 4.25 .
AL & L wBuMl uzpiddi 0.1 e [@e™!
el M Algdl drladl WEuslel a3 semi »udl
Q. dl dgart WA COy,, Hy0p), COy, i
Hy,yrll Alscl 810 K ciuried 1Rl

B34 :
wEa i coy, + H0, = €O, + Hyy,
3utla-l Alsdl
0.1M 0.1M 0 0
dgarl A4A Algel
01 -xM (0.1 -xM M M
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ol xM gt zmﬁ: COyyy ol Hyrll
Ulsdl B, ¢d Aga--2ANLS

_ [C0yp)] [Hyp)]
¢~ [COg 1 H,0)]

= [x] [x]
[0.1-x] [0.1-x]
2

e
[0.1-x]*
sox2 =425 (001 — 0.2x + 1)
o X2 = 0.0425 — 0.850x + 4.25¢* = 0
o 3.2522 — 0.850x + 0.0425 = 0
e alsmiql A
a=3.25,b=—0.850, i1 ¢ = 0.0425 43

aa wMlswL ax® + bx + ¢ = 0L Gia

_ —bxvb® — 4ac
2a
+0.850 £+/(0.85)% — 4 (3.25) (0.0425)
= (2x3.25)
_ 0.850+0.41
= 650
- O G Ay x, = 08504041_ 4 9
6.50
2 ofld Gia x = % = 0.068 uig

A32Ud-ll Aigdl 0.1M B, uell 0.19M ¥eu 2elsid
el Al x = 0.068M ellsid yeu 8.

el x = [COyl = [Hyy] = 0.068 M
i Agard COyl Als

(0.1 — x) = (0.1 — 0.068) = 0.032M
2 Hyrll aisl

(0.1 = x) = (0.1 — 0.068) = 0.032M

4.10 Agart ANis AgUAL (Applications
of Equilibrium Constant)

Agart 2ANLSL J2dls HoldHAL Aol
A wwEl B -

() B yeldid wigsus : wBu-u iga-
vy et wBarl yeldaid wum eald 8. A

Ko 4t 1 52l a4 € dl sl wsua
ayiz 1, ved ¥ uBusinil lur waasd
B yel gal des odl. A Ko e 1 sl vl
Sl dl WBUSIG Wl ~lugHl s skl ay
aarefl wBAFl yelal de-l Rkl seldl weud.
ol Ko ded 1 ¢4, dl uBust 2d «lusi-n
wael Agen R W all.

) wGudl Ba (yaoudl 3 uldonll)d
uigsaAd o S8 el dosd uals wBw s
Rouni 2 df Wissud Adar Haqnisi yeu
el 531 wsi, »u 12 WL eudse (Quotient)
(Q,) 2uRidl U3, 242UG ogRuAL UL

aA + bB = cC + dD uBa A2 K.
yeu udl,

_ [cF o1

K, =
[AT [BY®

=Qc

2 Q, < K, 4l il K, > Q. a,
sl ¥ sis ke nbiafl THaiast e A= Ailarisitan § 3 P
ALBEL YL LBAULHL Al Hed HIF95HINL UYs
ds 4. A Q. > K, wy waal K, < Q, A
dl wEa wlowdl Reami ad »ed ¥ luyell
WEUs s Ul @A Q= K, uww, dl B
AgarHl 4.

gmal 8 : uBW Hy, + L, = 2HI,
W2 Kod Hed 700 K s 57.0 reuy ., Wl
5 Ul Buseii wBast » {lusd-l s 61
A5l sl wud A sl 8. [Hy] = 0.05 M,
L] = 0.10 M %3 [HI] = 020M uBu 5§
Rl 201 a4dl o A48l &30

Gha :
wBa Hyy + L, = 2HI,
[1_11]2
K == =
AT AR
_ 020> 004 _
& = 0o5OD 0005 =8

wWH Q = 8 vd K, = 57.0 8 2
Q. < K, ¥2d ¥ uBu ylall Rawi »ed ¥
BusHidl Al uadl dg 2R aul.
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(i) Agart-Aigardl avadl : Aga- aud
luant 2 UGBS Aigdl wneidl S dl Agant-
s yeu el Al i wBASHL a3l
Alsdl 27 Adett AN e A2 SA, Al
Agan Aisdl vl ws. v e {2 dsssivil
VUL WY

dAoissl 1 0 s uBam auglid azum
avil,

deissl 2 : uBal wBusl wd lusi-l
{13 (a) du-ll azvid-l Alsdl ealdl. (b) ga-
Wil edl sl adl $wR ealdl (o) Agart
Algdl avil, Al Hla (@2~ wqan souel sr
(bar)ui saldl %+l ®e « dlu dd W2 x avl
i ugl dnl daradlafifa eeudl.

dvissl 3 @ gan waals - s
At Algldol Hell 35l 2 Wl Gia
518l A [Rawd wdllsw wud, d dd W yat
auil ol Hedl el v edlsd yeu sl s

ABSEL 4 1 il Hedl Rl Aat Algdl L.

AbLEAL 5 ¢ Agert Algcirl Yedl Adart vAis
Uizl ulsenl sl Adent wAnis] e AsRl.

gl 9 : 69 WwH N,0OA 0.5 [
SEALL GHULIHL daidi Huedl, divdi- 400 K 8.
dAdart Ui Sl #33 AHY YR wql €lHL. A
WBA N,0,,, = 2NO, € 214 gad 54
EollsL 9.15 ol €Iy, dl K, K, v Agert AHA
2li[Bs eousl oIl

R = 0.082 [¥22 dldl et 3!

Gia :

wiEu N,0,, = 2NO,
_ NyOgietn

N0 = ) R e
_69 _
=9 = 0.075

o4-ylaq 58 0.5 (e 8.

8d PV = nRT

n
P= ZRT

0075

G x 0.082 x 400 = 4.92 &=

Agad ¥ud g4 eous 9.15 o B.

wBa : N,0,,, = 2NO,,
A3+l Algdl (esust)
4.92 oUR 0 oUR
dgad Hlsdl (soust)
(4.92 = x) AR 2x 62

(w4l x = NO,l uigdl (eousi)

¢ g4 sl = N0, - [Rewlla eoum
+ NO, i [Acudlln eoum

5 915 = (492 — x) + 2x

L0915 =492 = x + 2x =492 + x
x =915 - 492 = 423 &R
N0, dda-t w43 [euslla eoust
Pnjo, = 492 — 4.23 = 0.69 61
NO,7 ga-t i Reuwsllu eous
Pno, = 2x = 2 X 423 = 8.46 6l

wd Kp=(pN;)

(8.46)°
= o6 =lBToR

K, = K, (RT)™
- 103.73 = K, (0.082 x 400)
dl Ang = (Uuud NOpriL Wld — iy
N,O, L Hlet)
=2=-1=1
. g 10373
T ¢ 0.082 x 400
= 3.162 = 3.2 ¥ld [

4.11 Agan wanis K, wBa ewasn Q, 2
Bieat Ysa-Glo w231 2Aei (Relation
between Reaction Quotient Q,
Equilibrium Constant K and Gibbs'
free Energy)

UG Agar AABL afas] w8 Asiy
adl, uiq Gwioltoe W Assu Aoy 8.
Guuafaanaiil Y Gl §281 AGH Blod Hsd-
Gled 32812 dld dovicumi »ud B, v dslad
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Bl Al ga ysd God »iAd uBusi-l ga
Yoo Qo daslad 8, dni =12 qed dmdl ad.
WL, YU i Ul A wAALS WAAL d-ll
Aoiudl uul st

1) o AG yeu w0 S, dl wBuL wglRd
(2udd) a9t 2 dial o dluy ds
yRoudl Rl wwom ausl.

(i) A AG yeu b iy, dl wWBu @dwlRd
AR €l A dAal dluwel uBus dazs
wloeudl Rl w0 aysl.

(i) A AG- Heu 91 ¢dl, dl wBul Aga-ni
2128 & wBusL 2 Ayl discrdl Aga-ti
24 i WG yRuHl ¥ wlaewdl Rausidl
SIS ugl Rl o audl -lE.

GuiplRauaHl Hsd Alsd 3B AG 24
Algdl eEa (Q) 42 A el ey & -

AG = AG" + RTIQ, (4.17)

P ¢ ] Ay Rioas: Mgl Pacia a2

FHL AUT = AHLUEIL P ULEL 949l Y.
wadl Bl Gl yed wulia Rl 8.

8L AY dd ddad AG = 0

ddl Q, = K, adl i+ s 4.1740
el Ysdi,

AG = AG® + RTIK = 0 ual. (4.18)

Yl AG® = — RTInK 4.19)
2L wH{lswil wRELdls ad s avila
d AN K = arT (4.20)

aly avll asi. wuel wdlse 4.2040 Gualal 43
WAl Rl AGHL 3eu A1l wisoll wsu.
et

(i) AG® < 0 €4, dl —AGYRT 4l oid 2ie
Al K = ¢49°RT 5 1 & ¢qfd & ¥ K > 1ud.
el 56l wsy 3 gl K > 1 €ld vadl AG yet
BweL Sld, dl wBul ddal ydowdl Rewwi o
o1 abdl i lugld W awl wdl.

(i) B AG® > 0 €4, dl —AGYRT 8L
wd Al K = e86"RT & 1 923 3 K < 1 adl.

2 eald 8 3 wBul AdgRa el v {luAd
TR ETER TR R T TRE

g1l 10 : camsifalia el g
slEIUSA A UFUIML Agan-ANIs et 298 K
dluHi 3.8 x 1072 1dld 8. 20 uBa 2 AG
yey el 2 wBAL @A dHig dder wsudl.

B34 : K=3.8x 10224 T = 298 K 9.
¢d AG® = — RThK

= — 2.303RT log K

= =2.303 x 8.314 x 298 x log3.8 x 1073
= —2.303 x 8.314 x 298 x (-2.4202)

= 13809 %4 Hla! = 13.81 (el ga Ha!
AG yeu Ui €S UBA |HRFRA R Sl

4.12 uMals Adard AR sdi uRew
(Factors Affecting Chemical Equilibrium)
Gellolmi sl o1 vl ayai ay fluy

Qoadidl wiad did 8. wudl gad 3dl Ad

uvig ¥ el ay {lur WO dd R UL sl

YRAGIHL ol il AN HewAL ol B,

dgaddi Wdl uBwd A sl wRewlnl

WSl Algdl AL 86181 dluHIA i BElus-L

GUAloL-L wENN SAUML 20 B, ueld g v

SUALEZLoA il Gualol s3] delafhel

VAU Ay Gowtert 2ol wBa 8. s

3 keaun 58 et g6 vidad B Gowent

sRAL -l Gualol wid 8. 2l il WBUwiA

VAT 5l URGolAL wewy %33 oA 8.
dgaqt waais uBusl wisdiell adat 8.

Yig SIS uel uBusdl Alsdi iman eouspi

51 5AML 2Ud, dl Agerl YR 2R W3 8.

AR LOLE Sl Al Udet 52 9. UBU Gl

% Guydius el 1S ad. dell diudl Guu 3 e

Foidl GoiL ueL s WBus 3 Hlluy 39 o sl

53 8 A d-{l Agadt YR 2R W B, A -uele

52l dgdd Wil 52 8. Algdl, dudi 9913+l

AL AR dauMs @ AU Ry wasl

LA yoyor sl :

“Agadt daruid B KRl WRewliel

S8 s uRean] 2512 sl 2ud dl weuelui

VAl #2512 Ul 3 ol FWR AL A A

A[Qad udl A Agdr AALS o AU ™A

A" 2L [y ol olllds i AR Agann

Ay wil usu 8.

S Aarial A S wRowll Fai ¥

(1) Alscldl 38R (2) couaml 38R (3) RBy

Ayl GARL (4) vl 32812 i (5) Gelus-ll

Gualorl [Ratdair e 309



106

ruufasun

(1) Aisdimi g1l BuR : Aganui el
WAl A uBus GAIAL 2 luy g sd,
dl @ Q2lRuA s wausl Agadt wR d-l s
A wE wudl :

(a) WBus wgal fuwdl disai wBys
dl Al G auRl saMl 2ud, d wBuw
sl A 2 ¥l Algcidl a9l Gualemi 2uadl.
2d ¥ ulusdl Algdl auiaHl 2ud, di {lue-l
Uigdl a8l A luzdl Algddl B sl
e dl uBusdl Algdil awl wddl Rausi
wBul wRemal,

() uBus dimar lurdl ulgamii wBus
vadl urd g2 s34 Wikdidl 22l sl
d, dl WBA Adl d ad, Fd) g2 suda {luy
gl WEUs 53wl .

U, uBUs § luw-l alsdl 55 uel
FWIR SABL 0d, dl Agart 2 FWRA YridA
5L dkg w9 Adart BPawl olsddl. Gelsw
adly adsl dl Ny + 3H, ) = 2NH,; uBuni
uBusl gasglot vual aadsion-dl Alsdl
auiRai 21d dl wBa el des s qudl
A {luy AL ay 1ad. A SEudglrH §
Sl Algdmi g2l sarl wud, dl
uan el iy v ulFusl gusudglo we
SASLOLw WL Hadl. ed AL Godlen
gedl, »dl ye Avid ¥3d © 3 uBuwi 1 Ha
S 3 {la s uBuL 531 2 Hia AR
ol 9. ddl SUAHIAA sled JUsIdor--]
Aflgdil udl al ad uxr s,

ey Gelenl [ANAin Aqad adu.
YL 8 CaCO,, 1 ARM sl A+l [&ae-
wFul w9l :

3(s)

CaCO,, = CaOy + CO,

2l A Ay CaOy Aaqdl €, dl WUl
drdl COppy UYL R Sl 2¥g W, 5@ 3
COypp CaOy art WA AUS Wowdl wBuL 52
dl fluos W w2, wul CO,p i)

g2 sl ay CaOy, wadl asw.

gl : siu-ly dganyi 15 Gergetrl
Rz sd3. Fely @i, SCNg, u- ud
uBa 53 [Fe(SCN)I, 2wt o-ud 8.

Fey, + SCNG, = [Fe(SCN)I™*

21690 Uledl 300 LauAdl- dldl %l ene 391

w wBuni Felp) »aal SCNg, Gl
UBusl Algdmi qA Rl 2ud dl ay
[Fe(SCN)Igw, ast oiiauell ele 3oL ay A
ad. @ [Fe(SCN)IG, GAL fluzel s
a1 s2ami »0d A [Fe(SCN)IG) gl azauel
dld 39 dladl =229, 129 3 wBEa uBus ds
opdl, i wlondefldi FHEad wdol a3 2uda
8. H2  uBwd ugkt 3% sKdl ¥ A,

(2) souetl #2511l 21U @ eousl 3wR
Ayl Algal awd ¥ uadd s wed s
s B2l 3 ardla uel 53 asia. i WS-l
§81 sl aiyHy WEUSL A Aydy HluAd-
dul e ~{luAqil waenl 38R ad ud, audl
WEaiig uat 4 d2faur-dl Rsid awy wd
wsid, [Fumidl dgdul aq 23 nadl yeel w
gollel-{l BUIL AU L 4B, ol wd s b
Addl se A AUlgdl souRi-l 3518l @dat ©.
wysl A Gelermt advl :

COyq +3Hy,) = CHygy + Hy 0,

W UBur uBas CO i 1 e uBus
Hyptt 3 e ud uiu 3:{[\ rﬂ%’\ CH, )
1Hld dul -lus HOg -l 1 2l 8. 2us,
sa 4 dla WBasmidl 2 {a ud wd 9. 2uell
WBa ey Hadl vl gl w8,

HIRL 5 2L uBul sl old Wil wR seum
aqidl [Mad dieud Adedt Bas sed sy
sl 2, dl g wid 7 oga eougl oiug] ual
s18 5 PV = wamis 8. 2l uBusl uwA
Ayl uigdl wmal eousl sealul, FHdl @
efaur-l Rigid wHBl dgart $3 ya saral
U 5L WAt 5. sougl o) el wA
WEaslAL 4 Hiamil dlus-l 2 Hia qode gl
Wari gasid dlfd wEue youdl R @
ed 3 ay «{luy uadl,

el Glag o B CaCo,, = CaO,
+ €Oy, ML gy «{luze{l Alaxll v (0 ¢l 1)
aBl 8. CO,y, 6 soual aqrami »ud, d
B wleoudl Raumi 2l 2is luwdi 228l 2uvel.
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(3) M aiyd GAA : A wsudl se
AN AAHL 20 2 WEAL cuoL ddl 4 §ld
adl 518 MY iy GRRAML 204, dl Adadt W
A5 wAR wedl AR, MRy ay uBus 3 luy
A WG s A Sl dudl [@Qewslly soumt
sledldl R, uReud Adad W 4SS WU ud
AR, 24l 22U6 %Y K, F-ll 2R Q, R ©
Aul S8 Fe1R adl el

(@) drail 2u2 : Agad Rraisd e
AluMl W Asndd 8, ded ¥ [Mud dsus
Agad »Anisd yed Ml € B8, A sleend
dl d e sealn 8. WGl o4 usrd Qs
W : (1) Geudus uBul 24 (2) Guanalins ulul
AUHIAHL $3812 sl wBamidl oler Fsidl
viadl Wddl G 381 WA B, GRlNg
wEwmi Gl Al Slaell 4 s wBusdl zw
s 52 0. Guudus Wi 6w ser Fsdl
dlaell d luw-l Fu sl 53 B 2l 56l usiy
& (1) vl asRiel Gwusting WAl Agan
vYULs 948 8. v (2) diMi--ll atuRiel Gesus
WGl dqad »aais w2 8. @dwal 2 uml
e 53 Aol 3 diuHiAL A B a2l wBa
B OUR UL MR 53 O, NHy,ril Gl
wFadl [Qar sd.

Nag + 3Hyq = 2NHy,
AH = —92.38 Bl zd {a!

AH »l2d -l 3R % -uA-l sa
sied]l A uBFasidl o A-alldl dsiad 9.
dd HeHed Guusling i de wed GWdus
WL yud B, el Gull uBw Guudus ©
UG oY dM Al iRl Geudus wBu
H12 gluelsizs e, sizel 3w ulowdl Rasy
% {luarul a2ldl 522, il dwsiAl Q2L ay
Alur dogal W2 sElsRs B, Uig A
galdl sauefl uBa-l g2 w2 O, el uiu yel
AcHl ay wHY adl 8.

il A 30 sy deq {1y crwsue,
@R %ed AR ot Av{l, Gelusl Gulal sl
wd B, vl usd deell ay lluy wsy deew
L AHUUL Hadl s 9. 21 s+l wRRAA
B{fzHidRer YRR (Optimization state) $& 9.

gltt @ Agan-uBA R Al R
e Al uBuell s any

2Oy == NoOyg e

szl 301 ERT TR

il uBUL Gudus &I oiRs+l Gualal 3
dAtuidl gelsidl i oy Wil ouadi Hsld
dluiAMl gL 2uAL veu 53] sy, B
wgf 2wl FEa- wdlor wHigl udlat
5 A divd-l v @A die dadl.

(5) Gelusl »u2 : Qoy GElus S um
AR WFarAL Aol axiRAdi Hee 53 9, ¥y
5 Qo+l uglaell 2L ay Anqaal divisHdl
oSl GElus adly qua 8. Gelus-l Gualol uxus
ofeisl el Asude B, s & d WBA-U v wR
wU 53 O, Gelus sl ARABms wBul
uBusel Gl waseud 8. Al uBar Anqdwel
uBusdll uw dre A v wBU elPAuH
uBuse Qo 42 8. uig Agat wANis R A
AR udl «ofl. 2ed § flurd awR we Aadg
adl. SaASZl B SUSLSLA Ayl
yulollsaeell deRlEM gl Aol AFU Ayl
WBwAL Bl durilat.

Ny + 3Hyg = 2NHy,
AH = -92.38 [3ell e Wl
Guisd uBwHL gd 4 WA uBusmiel 2
Halug va 8. Uyl eenemi a4l a q2fyz-
Rigldn 2082 ay 20U Anaadl sUeLsRs
B, U o4 ueiHl adl Bl souRdl og
{2l al qell iR W didl A 9, W2 ssuat
B Avig, W B, aell, 20 uBuw Gwuaus B
W2 Al qedl o 2fdazdl Reid waust
ey Hoddl M2 selsiRs 8, uig Al
geldl wFUAL U A 52 B A -l w2l 52
8. wuell uBur yel uar w2 ay wwudl 3R W
B, d Gelonl s Q. sesrs Al uel
dtudist ugt AP 529 U3 B, 2L siinil WAy
Al oy Gelus audl ulFusael als w2l
Bul £ qtdl 2o unudl wsd dedl ay lluy
qagemi 2ud 8. il oz AL Gawtendl
WEAHL v WGk Glus ddld Gudlol sul.
el Mdlusizs uReud dadl uswi. AL
Geule-Hl UMY $2EL TOURL el UM Hed
200 6UR A 773 K diudid € A 20dd R
Gelus dily aurid 8. % AR wBUrL ddan-
wAnis Ko et 48l % @iy €ld, dl Gelus-l

Guylol wiM glRald wllasdl el

= —Ve
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a@sin

4.13 gl siudly Adé- (Ionic Equilibrium
in Solution)

Al U wisunl Ul AR Yyl ¥
vieuA sal dul wulfaa UBwHAL AR s
el 8. ¢d uslil MMl vl § Agansdl
yul s, Aul sl Asoudal sl wum, U
SLEHUL 200G el AMARLS Adariel vou
sl 27 ¢d sl Agartedl siew s3g wAbis
st vidlel wadlorilellni s wdloy suu-ly Agat
Rl 8. 8Rs -udgedl awammi WeRus
arfladAed glasl Gl didl Zdl L Aal 1
8. W Adad wBuL vuud a3zl A wwel
avll asy

3+ - 2+
Fe(aq) + SCN o) = [Fe(SCN)](aq)

s el o1 Foufadl dlél Fdl cua 391

2L Aga-uBUAl 20l Aisal ealdla

_ [Fe(SCN)J**

et irecN—1
Lre i

JPRed N

Agart wanis K avllay, d K

vyl Aigdl He (@27 iy WalZdui
ealaldl diaell 2igadt waais K, adld ealam.
uysl W eudl welld glaslul o Q.

dd el 9 & ARuH sl wdla
glaiel [@Agdudals vaur ad u4¥ 8. ARux
sARADSA Algedl ariFla, dl wgsdl al 8, 2l
wellnisll Redudas uaiz sl »ud 8, Al
duiel AlRdd [Rgduals yaur wa 8. wd
sl [Qgdd ded suadl gl wa 8. el
sl asd 3 ARUU sAlUSel rdla giaeing
Al sl 8, wwd weldi suuAdl-dl eiwil
Al@ad 8. Wdsd FA3 (Michael Faraday) »1 il
well uelelld o [ewomi asllszel s : (1)
Rgdlieird 2l (2) [RgaslEeusy. Guz-l
Belgreri MBRa sl [egalcusy 8. sie
5 [Qgdd aed 53 8 wi [Agd a3 Aoy wi
8. well [Qgdad asr sd el »id Qga a3 d
[Rlouor wug «ell, we [@gd @A 8.

AR ol ¥Ruy 3 [Aegdleieda w a
auoL Wil wsi. F3 dedis ddlorel Ayl vuarllse
wal oelly glaedl wiad 93l U d, ed
die @addl 100% a-lsel udd €l 8.

gl.d., NaCl slasl. 3eais Adly-l yel
-l qAd B, Aed 3 du-l wdld glaRiHi
2 v Al G B A 2R weid
ugl SR €l B, dug wuudlswl ug) g
(2uR 2¢l 3% %eq ) €lu 8. [edd et
el gragiidl suusdlel Aval uR R AN
dlanell Ay 5dl wsiy 3 ABUM sARLSS Fal uel
2Ayal 2ua-lsve Wil ©, dell B uen RgdReuas
58 8, uig ye well Fau uerl syel sua-lse
wil 8, dfl Al Fela RedlRouss s¢ 8.
A fes 4240 3eais Gelswll sulow & :

ses 4.2

Rgaleuosu- Bersell

W5

HCIl, NaOH, KCI,
NaCl, adi3-i wdla
glesL

(1) ne Regdlaeusy

2) Rela RedReusy |CH,COOH, NH,OH,

CH.NH. a3+ oellu
CH,NH,, 9oiril el

aldel

woiol Rgafioussil dyel 2wa-lsel ud
sl wBa Yol R o wy 8, wR
Agart asy ol uig Foln [galaeussdil- »ysl
vielse ug eleell wian youl i wlaousl
w1 ol Reuainl udl slawl dgadt asy o 8.
A, Agdl 2ANLs A Ugad A Sl
WRoollAl veqw Hst Foda Redleusdid o
arp wd wsiy 8.

4.14 i3, B8 217 2R (Acid, Base and Salt)

suvgl ABEL Al vuvsl R, Adn
wir aRAL WSl il ¢l el didlal
g3 1.2 ol 1.5 ez Wil Fedl HCI ua
wy 8. d Guld elopl @, wiotelld well wdl2
@[S 8. NaOH 1 KOH Fal ol ol
sirla 2l Bualol 2 €, Hidleil AL, wiel-l WL
dar H{lel Fal &+l uel »uugl, Gudlol sdal
gl Harel A8l Mol Ado ddld 2w sl
Wal WRRs AR Folo 2R iy ual
wide 53 ws.

W2l ool iMUe Wiedi viel &l 9.
sl wee W2 AR euwdl R (Acidus)
e 8, d ul AR (Acid) wse wuddl B,
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4.14.1 s 24 dda-dl caray
(Definition of Acid and Base) : 21216+l 419l
S3al ey el R v el vl A
wHel il wsy

RS ed wlal el (1) % dleHl vLel
€l 69, (2) oflrit oL [MeHAusd Qi oirid 8.
(3) At wd uBa 53 au x4 well orid B,
(4) g Al uBa 53 keals Aol gustd -
dly Geaurt 53 8. 3 o wwEl ody ved il
uelell (1) % aledl qal €a 8. (2) ofldl aa
RieHausiil ol orld 8 den (3) iR el
uBar 53 aux A wel eud 9.

Guz suldell cyvall iR A Aol
il uzell el 2l 8. 2uell A ABucs

(Onerational) civalad) & 0, dudl uufer 2 @

Lwpeiaunany wie S . GRTu Tueoy

3 iR viel 3 8 waudl A8y qiL 3H 8, d
uuacl ausig -l el ABUASs v
gell cuvyal 8 8. sladl auudl suylHs
ey lpila Aseusdly (Conceptual) cdlvdl>il $&
8. dul MU, sll2s-dil 2 gou-ll wiRy-
A% AL AHIAL Al 9. el S
M BUR weud s34

fel ALl WEHUL oA sUL WIS 8-
NaCIMi Na* 2 CI™ 2t 28el 8. 9dl [Agd
agrt ug +dl, sR2 ¥ €35 Na* »uyd 8. CI©
sy a3 i 835 CIT o2uu- 9 Nat auudefl
gddl 8, ved 3 -l wsidal wWdl Sl
(Bed ae sal W2 Ysd Hodl <ol wig d
ogefld glamt vadl Roldd viarediql NaCl @
Qe 53 8, s 2L oA yRERRML 2uuHlL
Asolloadl g2 ud [gdasd sdL A6 ol 9.

el glanii [Egddsn adig sier well-l goflu
=5

aas a3l o 8. wel- +§/O\+5 a3
H H

culdl wsia. M, 2FAW U vidd: BERIEIR
A SLOL% U i Ao €l 8. NaClAi-l
Nat wefllui-i weeuda 2iEur ds sy
8 wd C1I7 welui-l ddeudy s ds
wsnly 9,
+5H
B B
del Na + 0/
5 h“
HT
- N\

ClT+ S0 —> Clgy oA B, % visellonel

—> Nagy o &, dl

Hi s
oL dl Uil 53 9, ddl [Agdd asd wy 9.

2ugld 4.2 wellui WRun seldsy Raun (relusa)
Na* 2+ CI7 2uadl fela wiesll- 2ugil

-~

A8 dHAL welluseiel el wul 9,

el sdluss v RS AR ydlu
Aedlrs vsld B, welal oundl sidde-
selus (HCD< 2uel auddlsm wiy 8, Fuk
HCl,, + H,0, —>H;'O(aq) + Clg, uig RARs
RS (CH,COOH)- wysl vuasilsel iy 6.
¥y,
CH,COOH ;) + H,0;) = H;0y,,, + CH;C003,,
well el 2 usiRdl wBun wdluse uka
(Hydration) $& ©. well Ryl gas e d-
‘Aledur’ (Solvation) &Ml 2ud B, M3 &
wuldl- (1) Raes 21 (2) 2na-lse a2 de
UHDUL.

Rl 3o ustddil Wal diud 24
el el udl QU+ suld 8. ¥4k
= + - :
Na"Clg, + H,0) = Nag,, + Cli,, uig 2uu-il-
500HL oL eldl welld gleRl B A3l 3 B,
wHY

CH3COOH,jy + Hy0(;y = CH3C00% ) +H300,)

AE WoURUAL 2l dsisd U L el vl
Al el o ellsily, (i : Ga{lu [l
9§ u¥, ¥4 NH,Cl, === NH,, + HCl,,
i UYL WOl ], WL [l oy 9,
Go{ly wu~lsael Rl wadl -,

Wl 21 Ay 2l wud Raaddl
Aseudl : sdMua-dl Aseudl sl ¥ usial
yellai @A wl el suua (HY) 20l
ad B A % usel Rl wHl wsifEaa
- (OHT) 20l dA s secudi 21 8. eld.,
@ Ho, 22 s H o STE

@ NaOH(S);HZO—)Na++ OH™ asx
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uasifdsuq

L Aseuriil wuled A wwd 8 ¢
@ HY (lé) el o el 8.
() o WA wRK ddl wsdl -l

(i) o a2 o sias weldl sl Wl Adlma
8 wa H,0" 2uad 2l 8. 2 GuRid
Yeas AL OH™ €l o «dl. 9l w1
A Al elcld 8. ¥4 NH,. A %
wiidl BF, Fal ddo-ll HY uuadi ol
9l YRS aly ad &,

(iv) 20 dAseurt Mot welld glamd aw, Wi
asiy B, 518 3 NH,Cl %dl a2 Wadl
NH, Bal stasii AR ald ad 8.
ia-lsw Hera BuuAML e el
idusl R-ASA sl adenyl
Adld Al yedl osus, @i weg
933l 8 & HT «l auudla Bl a3
1077 3{lex & A el A se w8l % -l
. ddl d well-l 29, wd adarsl A
H,0" 2y oirlid 8, Bl sLofRas 2uam
5¢ 9. s viely vidl ® 5 HT uelq ar
w2l A Aleaddl dlu B, ved 3
H* +4H,0 —» Hy,0] »uu-t sald 8.

2l v ASHl si=3-aldl Aseu-n :
3fla zaasusl, ollw2s (Bronsted) il i3l
RuuaEsu-l didl Lowry)at 2iRs 2 Aol
Aseu-zll 3y 530 dudl HY (WE-)d wel
orltedl, due{l Aseudl Wl ¥ veld W (HY)
2L Adl de sl 53 dd RS A F ued
Wl (HY) dad sl 1lsik 3 dd ady
sl 2 B, M, ARS WAlHeldl © -
Ao Weaudl ¥ widaas 8. il eldlo-t
seludst welluial Qule--dl wBa adu,

a9 LR e

+ e

e a5
d ¥ WM,
e ELL

v v

+ —
NHyq+ HyOy <= NHyqg + OHg,

A e

Guanidl wdel wBuL [Fordai wxw,

HCl = H' + CI”
»1R-1 WEA  you A1

HCI WiEl+ >0l 8, W2 ARy 8,

H,0 + H & H;0"
asy-2 WA AUBRS-2

H0 ®2i dlsiR 8, we ddy 8.
g4 uBuw

HCl + H,0 = H,0p, + Cl
ARs-1 dAdn-2 HRs-2  dAdn-1

Gua-l Wl WAl 2uv-a salda Al
sl sdl wsiy 3 WAl 8232 (Transfer) iy
0. d Wdx Al Al e2s RS Wl dud,
22d d-il Ayl Gn el w35 Adn W2l
Aad Aed wyodl RS ot B. 2l i AseuruA
WA 283 wudl Ayod AR Aseudl add
sllovHaldl »id 8.

2481 22U3 Ul sl Hulel
Ay ¥ NH, 1l OH ™ el o9l d 66 adld ad
89, Yol d olies-didl Aseu-el ameadl ws :

NH, + H,0 = NHj, . + OH_

4(aq) (aq)
ade-1 Alkg-2 w1 Adn -2

L WGEUAHE NH, Q60 W2 2l 2yom
s NH od 8 i 2R H,0 M-
ol Ayou 6y OH ™~ e-ud 8.

1Y, ol s-cld] Aseirl idFuu- dAseun
s3dl At s 2 adlsid weud. du wdi dxdl
Wulelvll e oeus. w53 seifs el
dal Akl ar-l uBwd wwwani yidl wil.
BFui WiEln e, octi A iR ddld ad 8. dell
Ao Aseudl Rl 2udl, ¥4 gou k-
A58 Aseurll sl 21 B, sllwes-aldl Aseu-uHl
WISl Mt Al U dd.

2R wA A A gdu (Lewis)H
dseurl : ¢ 2L AL Y Sl 192341 gRUL
3 B[S Aed el ueld & SA5ZIAYH €IS A
053 ied Wdl ueld ¥ SASAYOU el 53,
24 W2, d-{ls3mL, Ayon RS & AYou Ady
e vl oied ol % WBARD wA yell wd
Asndd HAs2 2 Al Asarild w3y A
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oLl UG WY dd NH, 1 A8y 244 BF,4
RS sdad ¥ AR d FRuswl 2u dseqrie
yoll oy, (Al ulBael 2u e 2l :

°F3 H

e s ¢ BF; % NH;
sz: + XINx+H — gl
.";.' : : BF; «— NHj
e H

ENIET PR B2

23, BF, Sasgi-yon dlsi} 6, e ks
B i NH, SAs2lyond et 52 8, W2 6
8. AICL, Co™, Mg?, @l §asgi--l GQeruain
uewll 3 2uudl RS a3 addl %4 H,0, NH,,
OH ™, F~ %di usiel 3 atiudl Ade ddl3 adal.
ddd s g AR A A oy i3
lovaHl v 8.

gl @ Guadl Ascu-iiplAl seuA 53
ugdl AL Rt w2 sRel sl Bas we wal
ugL 42 ¢ el % ollwes-didl RS g AR
AS uk B, uig ol ¥ qou 2R oliRes-didl
VRS dldl 4dl” 2l RS wA Al
Y1l oi-idl,

4.15 iR A ASwr 2wuls@ (Ionisation
of Acid and Base)

LRl RS 2 A9 ol Aseus
GRS v ASHHL wharlsed Al Gualell
B, 51281 ¥ el cudsl AR A FaRuuRLs
wBainl odla wiwmmdl snudlse €y 9.
HCIO,, HCI, HNO,, HBr, H,SO,, ¥l IR
wein R sl B, siel ¥ owdly gl
Axed dyel suudlszel udd diu B, A % wHd
NaOH, KOH, Ba(OH), %dl 852 uea 6oy 9,
5120 & aue uel wely glanni Ayel wwu-lse
ade, €l 8. vwadlsadl dweu AR vaal
ool usoldl 58l 53 8, diFl-ellRdl Hd
WHISL WA sl a5 adlsiadl s uR
dud wen wigal Feda iR 3 Ady a3
sl 2ud 9.

Y8l s Gelewl adul

— +
HA + HOp) = HiOpq + Agg
vifds-1 Gdn-2 2E-2 Afn-1
24, Guisd RElonl Adad wid 2y 9.
v ddast alislla € 8. 2ed § WAl 832

yAudl A ulaowsl uBael Add uadl €y 8,
Guadl uBw A yAewdll Rui adl da, d
Rl uodl ay 2l A woul Rauwi adl
dld, dl AR wetdl 08l ud, del d-u
Ul AP BB s Fola wd wen 28l
ele., ot iR HCL, H,S0,, HNO; 93+
Y A s CI, SO~ i NO; Rl
A5 oial, L wHEl de e NaOH, KOH
Q3L AYIH MRS s Nat wd K+ [isla
2R eirdl, Felo iR 3 ady dyel sua-lsel
o W we dAgar Wil udl. Brlesddl dl
s R wowdldi PR 21 darll gl
saell 391 galad.

4.16 wel4l 2uadla Jeusk (Tonic Product
of Water)

well Gewopmael »iisuss 8. dul 2R
Gl d Wl s Ay od 8 ud ady
GHRAL WAl 2l RS adly ad 8. wel-u &
wg, wIR UBU 52 B, cu A 2 WAk wul
8 v oflAd gy A AR B A Ay
AR-A5 WL culd B,

B _sing + e
H0p + H0y = HyOq, + OHg,,
RS-1 A-2 Ay wilig-2 Ay As: -1
Guarl Agan-uBadl wunis suldal, d

- [H30+] [OH™]
[H,0] [H,0]

i K, R Ry wamis 8.

welll Algdl (55.5M)4i v §2 wddl
], sRel 3 H,0 [ola 2R 8. (Rual
1077 M H,0" 2uur 4ud 8). 2wn [H0M
o el dl,

K, x [H,0] = H,0* [OH] = K,,

oul K, wel-dl snusfla spusik 9.

el dzRe § A qul [H;0%] da [OH 7]
= 107M & 8. el K, = [H,0%] [OH] =
(1077 (107 = 1071, o 20 B 2 Agast »Ru0is
%-cl ALl AN el daell K e va Fad
A 2 WA FHY 298 K il dg Y&
1 x 1071 &, QP 2t 21EAFA wel-l gl
el e, dl 1077/55.5 = 1.8 x 107 12, sl
dgant doll euy Wl ved ¥ welui »RQA
29l AvuL AL Algdl ay WL
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ruafasu

Gurel 2o vl A2l YRR dedl
uy

() [H,0%] > [OH"] ®2d 3 gl
[H,0%]l Aisal awid, 2 sla »iEHBs Q.

(i) [H,0] < [OHT] 2ed ¥ siamaui
[OH 7] -0l Al qauR 89, W2 sraa AlRs WAL

(iii) [(H,0*] = [OH] 2@ & glamul
s+l [H,0%] 211 [OH 7] gt vl 2l
gldel d2y 284,

4.17 pH Wusn (pH Scale)

8o il [H,0™] Alge e fe!
gl HiewRHl saldla, d 10 72 MHl 10 2 M
Yl el €S ad. 2 AU AeL ABUUR UR
salad 3add o, dul dsufs W3-uA (Sorensen)
s Wusy saledl, ¥ pH Husy 53 8. d wwel
pH, = —log;, [H,0"] Gux euida 102 Ml
10 72 Ml Hedlsil 21 ol Wsl ol sl
#1241 42 i FS wd ddl ws ERAlL A™
oiel. pH +{l carval i wHedl il asiy, “giagledl
PH, 81685 2uun Al sidfFum su-- M
Algdldl 10 v B wdis<l oRieRr 8.7
Gefaane WHEl Alsdid oled ABYAL ay doy
908 B9, u3g U glasliii ABUAL 2 Algal U]l
ol usA. ¢d MWL WY 4% 10 M [H,07]
2 [OHT] 4Ruag slae dee €l 8, dell

pH = —log,([H,0"] = —log,,10 "M = 7
wr 2RRS @98l [H,071>10 "M 2 pH < 7
d o Wl als s [Hy01 < 1077M, w2
pH > 7. »udl avll asmy :

pH < 7 sag RRs

pH > 7 siagl 83

pH = 7 gldoL d2:a

Gur %y A

K, = [H;0"][OH ]

Hell Wi K, = (107) (107) = 107

»d -log K, = —log(107'4)
- pK, =14
-~ pH + pOH = pK, = 14

pH, pOH, pK i Y&l w2 -l =uR
W 8. Guadl aald dlA- Sresi saldl as

Al iRRs a2 A
(M)

[H,0%1| 10 7 awiz | 1077 |10 7= il
[OH 71|10 7l 2hesl | 107 |10 7=l a=R
pH 74 el |7 74l quR
pOH |7 4l au3 7 74l el

glagl JIRARs 3 ks 8 d wva W2 pH
Uy, [ewaluz adl yFad yasdl Guyla
s3 wslyl e, uig pH dlex Al a3 pHe
dlssn Hey Aundl wslal gl

EIMAl 11 : w5 lsudl s 2uun-l
Yigdl 4 x 107 M-l eud 8, dl d-l pH 324l
sil ? pOHY, Yeu uel aildl.

G :

pH = —log,[H;0"]

= —og,, (4 x 107)
= —(0.6021 - 3.0)
=+ 23979 = 2.4

pK,, = pH + pOH

. 14 = 2.4 + pOH

s pOH = 11.6

EIMEl 12 : 0.03M NaOH HR1ddl sieel-l
pH ¥l pOH o8l

634 :
NaOH 66 8, 2 [OH 7] = 0.03M uil.
¢d pOH = -log,,[OH 7]
= —log,, (0.03)
= —~(=2.000 + 0.4771)
=+ 1.5229 =~ 1.52
pK, = pH + pOH
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s 14 =pH+ 1.52
e pH = 12.48
glvel 13 : 0.1([& 0.001M HCIHL glagii
well G 10 (e sraml ey, Heglari-dl pH
aLell.
6% : N,V, = N,V,
WHIBL SRl 0.1 x 0.001 = 10000 x x
_ 0.1 x0.001
= 10000
w x = 107*M = [H,07]
¢d pH = —log,[H,0"]
= —log,, (107%)
- pH =8
glagl pH = 8 €y, dl glas als €iq
AN, uig 2Uusl HCI ARl giqei e s
B, ddl viig &2 8, [gld A4 58 8 3 HCIH
Aigdl 82l 107°M, R welHiqL [H,01]) Aigl

107 M 8, 42 d- 2iaoel as B, ad awiddul
adl W,

wuefl, glaRii [H,07] = HCIHL disdl +
wiellivl (01 Al

=108 + 1077 = 1.1 x 1077

. pH = —log,,[H,0"]
= —log,(1.1 x 1077) = 6.98

Ly Al B, 59 ¥ pH 7 sl
Al © 2 glas ARRs B,

i, Hall el Aigdl HAUAdL wiRLAL
starli well-t [H,0™ L disdl 1077M waomil
st AR, dd dRdHl Adl w3 A dl o w0
pH udl.

4.18 el i3 wd Reda Ado-u 2uullse-
AN (Iom’sation Constant of Weak
Acid and Weak base)

4.18.1 Rl ilRg-u 2uu-lse vanis
(Ka) [Ionisation constant of weak acid
(K,)] : ol Ags0s »iRS HA ey gia@mi
viget: wuyslsel aqiel A Wl Age-d W
CICRC I

HA,+H,04 = H3Ofm) +Ag)

Rl 3 s HAML wilds Algdl C
Hia [R27! €l 2 d-l 2uusls0-219 (Degree
of ionisation ) o €1y, dl 1A wwdl avll usny :

M EDTRE
HA(aq)+H20m — H3O:;q) +A(:q)

wils C — 0 0
digdl (M)

suu-lse-  1-a — o o
i (o)

Acar (1-o)C — aC oC
Algdl (M)

_H,0'1[AT]
¢ [HA] [H,0]

(aC) (@C)

= - o)C [H,0] )

Yig, [H,0] 240 dflsial 21 & i adl

K, 1,01~ €O
2
C
¢ K (4.22)

Tl-w@ ®
ol K, @R (HA)L suurlsael wanis
wual Ay waais 8. (Sladl doisd il oiq

waldl uvn owllgl). 2well A un Agsalhs
Fola A8 w2 03 wusl avll asy

At HALs

_[H;0%1[A7]

Ko = Al

(4.23)

KAl sy Wla (@™ ad.

K, 4@l [H,0F] ur 2R Avdi €18
ol (el 3 ay el wifusHl 9gel-%el [H,01 R
el K Hedl yel-gel el K yeu F2d 2y
dedl ay [Rela RS A Ko yeu Feq aud
azel et Fela xRS 518 usL Flad drsis
K4 aed Flud 2l Jeaws [eda »ifs-u
2UAl520 AUGLIEAL Y@L Slves 4340 sulal B,



114

ue@atn

ey 4.3

Yeeus [Rola »iRs-u 2na-lse-wanis
(K,) 298 K drvzun

»ifas K,
a19ilgcdlRs AR (HF) 3.5 x 107*
Adgd RS (HNO,) 45 x 107
S\Bls 2y (HCOOH) 1.8 x 107
ARRs 2k (CH,COO0H) | 1.74 x 107°
orollss ¥R (CH,COOH) | 6.5 x 107°
siddlsdlRY AR (HCIO) 3.0 x 1078
asduafs 2iRs (HCN) 49 x 10710
Zla (C,H,OH) 1.3 x 10710

UG AlYal Aol

pH = —log,[H;0"]

pOH = —log,[OH 7] %28l
pK, = —log([K,] 2t

py- = —log,[A7] avil usiu.
Ul [A7] BRUUA-l Uigdl ©.

Guasil doid)l uel slid wn & % wilds
[H,0%] a1 KAl 3edl wnwidl €S, dl dgan
H,O0" Ml digdl idl usin. ddl well Fela
RN o AlgdlA pH ol ws.

WA & Gela 2Rs (HA) adls 0.1M
CH,COOH adal uid d-l via-lsel saais
K, 298 K divdil 1.74 x 107 a2, dl sla8iul
dgeqt ¥Md Wal [H,07], [CH3COOH], pH,
pOH, pK, a3 awell uslul.

— + o
CH,COOH ) + H,0;y = H;0,, + CH,C00,)

_ [H;0"] [CH,CO0™ ]

K. = “[cH,co0m] [H,0]

ui

_ [H;0"][CH;C00™]

Ke =""1CH,CO0H]

el CH,COOH-l wtia-{lszel »a o
ada dl,

_ (01 xa)(01xa

Thais 0.1(1 — @)
_(0.1)*d?
Ryi= (1 - o) (0.1)

_ (0.1)a?
L= -0

K4 3et 1.74 x 107 284 8, e

0.1) >
(1 —-a)

=1.74 x 1075 udl.

ord M (1— o)l arvusll vansll s
azg - (0.02 ol 0.03) el (1-a) =1 @vil
Ast,

s 01 x o= 174 x 1075

(2o L74x 107
- 0.1

. a=+174 x 10 = 1.32 x 1072
¢d [H,0%] = aC = 1.32 x 1072 x 0.1
= 1.32 x 10°M
s pH = —log,,[H;0"]
= —log,,(1.32 x 107%) = 2.88

1.74 x 1074

d % wudl CH3CO0 ™ = 2.88

2@ CH3COOH < Wt (1- o)x0.1
wull (1—-(1.32 x 1072 x 0.1)

= (1-0.0132) x 0.1
= 0.09868 M

A 5 AR glaR 8, odl ddi OH
Algdt el S duey wel ws,

pH + pOH = pK,
2.88 + pOH = 14
s pOH = 11.12
s =log,o[OH ] = 11.12
- logo[OH 7] = —11.12 = —12.00 + 0.88
. [OH 7] = antilog —12.00 + 0.88
= 7.586 x 10712 M
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gl svdl @ 0.1M 215505 Fusir 2R
(HA) -l pH 4.40 8. d-ll 148l Agad Wl
[H,07], [A7], [HA] K,, pKti 3l o

634 : Guz sulddl A WS wuct &3
"ssl 42 3 {lAdl uR=sl wa 8 :

[H;0%] = [A7] = 40 x 10°M

[HA] = 0.M

K, = 1.6 x 10°%, pK, = 7.80

4.18.2 Rvln Aot 2uu-llsei-2anis
(K,) [lonisation Constant of Weak Base
(K1 : 25 »1RRs 8» MOH+, wdld giavl
(A waEl u-lsel udl.

H,0

MOH, ) === My, +OH,)

Adn el &1 viad: sdar wyel
vadlsel ugl, W2 Adad i ud. ad 2
wuidl suldl asy :

« - M'][OHT]

Ke = [MOH] [H,0] {4.24) wiA
_ IM'I[OHT] _
K, x [H,0] = MOH] ~ ~ K, (4.25)

Ul Ky 25 R0 Frelo Adosdl wua-lsaat
vl B vanis 8. A Fola ddal wilds
Uigdl Rldl €157 24 w50 i el
ASA, dl Kyd ded 20u6 allvn d wudt el
asid, [M*] = [OH 7] ad. 1A Gelgml gl
alluflaa),

giudll 14 : 0.1M NH,OH-U siaRii digan
el [NH}], [OH 7], pOH, pH 2180, NH,OH~
wadlse saais 1.8 x 107° 8.

B34 : NH,OH el Ay 8, 2 21uB
WSl avll s,

uldu :

HO _
NH,OH,,;, == NH},, +OHg,

W@ 0.1 0 0
digdl (M)

salse-via (1-o) o o
ddan (1-o)C o.C aC

digdl (M)

Wy C =01 &
Agad Alsdl(M) (1-0)x0.1 ax0.1 ox0.1

_ (@0) (aC) _ o*C
" (1l-oC 1-u

Ky

uig K, = 1.8 x 107 2ulet 8 24 aq
yey (1—onrll uvumelal ag) i Sl »aaell
asiy v Adl (1-a) = 1 @ as.

K =aC
. 18 x 1075 = o2C = o2 x 0.1

> 1.8x107° —
of = == —— = 1.8x10

s a=+18x107*
= 1.34 x 1072
[NH;] = [OH ]
oC = 1.34 x 107%x 0.1
= 1.34 x 107°M
pOH = —log,,[OH 7]
= —log,(1.34 x 107) = 2.87
pH + pOH = 14
- pH = 14 — pOH
=14 — 2.87 = 11.13
ses 4441 Jeaws sl Aol wu-lsa-
wuAisl el 298 K arsud 2«ldl 8,

ey 4.4 saas Rein S 2ua-dlsa-xanis

Aoy 2uu-{lsrel-
w5 K
(298 K)
WU asfisuds (NH,O0H)| 1.77 x 107
Frawde ws- (CH,NH,) 44 x107°
yuBruse 1S (CH),NH) | 5.4 x 107
glaBeudd »Ms- (CHy),N 6.45 x 107>
AR CHNH, 427 x 1071
yRul NH,CONH, 135107
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s

wglt @ A emel »ou6 eulde Ad
yHSl dBl il AL sl UA AL

elmel 15 gaPatse M-
[(CH),NH]HL su-lse-»a0is 54 x 107 &,
sufadd wHus--dl wiilds Algdl 0.02 M €,
dl slamui Agan dal [OH 7], [H,07], pH,
v+ pOH ol&IL.

G4 :

wlEw : (CHy),NH+H,0, =
4 _
(CH, )ZNHZ(aq) + OH(aq)

ol sl flAdl Hedl wmal. add dvudl
[OH™] = [(CH,),NH;] = 3.28 x 10*M
[H,07] = 3.0 x 10°M
pOH = 3.48, pH = 10.52
K, 7 K, 92 A0iY4 : 200G Ay du

K, v K 3l 2sd 2R 2 ool

nedl eald 8. AYoH AR-GSA Aeoiul €15

R WY AR 2 ey LSl Ay AR
Slu 8. FuE,

+ _ +
NH4(Bq) + Hzom — N]—{j(aq} + H_,.O(m]J
SRST AR -2 Ay Adn - 1 dyem FiRe-2

a

e,
K, = —[H3([);]]_IEI';IH3] @25)
9 Het 5.6 x 10719 oeuy 8.

NHyq) + H;0) = NHgq + OHgy)
Ky = ——[NH[EI_[I?]H-] (426)

vl Ky 4 1.8 x 107 ozuy, 8. Guasdl
ol Wil ARl sl

+ s +
NH,(ag) + Hy0) = H30g) + NHyg

N - +
NHj(,q) + HyOpy = OH(pgy + NHy)

— + =
2H,0) = Hy0() + OHg

@ K, = [H,0*][OH 7] = 1.0 x 1074 @27)

K, el suufla-opusiz 8. K, NHY 1Rl

wia{lse-21is © A K, A8 NH,rL 2l
§YUis 8.

Ka % Kb
|:[H:,O+] [NHy ] [[NH;'] [OH-/ ]
INH;1| * [NH,]
(4.28)
= [H,0%] [OH7] = K, (4.29)

&Ko x K, =56x10""x 1.8 x 107
=1.008 x 107 = 1.0 x 107 =K.

apell i dardl wsid & g4 (Net) ula-d
wYNis dMl WAl o 3 qud wBami-l 35
Agdrl AN RIS B,

o Kea(nen) = Ki X Ky e (4.30)

A Ayen R 5 Adodl v
Rl dldu, dl d-dl qyed adn kR
vuulsrel vals, K -l Heedl sl usid,
% CH;COOH-L K, = 1.7 x 1078, dl d-il A3

6% CH3zCOO™ ~il [dls--»anis

b=% =575 x 10710 g4,
wudlL pK, + pK, = 14 (4.31)
- pK, = 14 = pK, »Yql
—log K, = 14 + log K, 4.32)

2 —log K, &t urell K- Hed awll asw.

gimell 16 : 51615 iR (HCOOH )AL [+t
nANls 1.8 x 107 B, dl Ayon Ay sle suq
(HCOO )l [Ralw- »aais eel ¢ ?

B :
K,=18 x 107* 24 K, = 1.0 x 107*
Kp x K, = Ky,

K, 1.0x107"

'.K = —
® T K, 18x107*

=5.5% 10~°
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AP waa QWanls (EEs »aw
oigRs) i3 [Ros-anis : aesyRs AR,
Hishs AR W3 BARSs 2w s1elRs AR
dal WHRs 2R 43 Bals 2R 8. dusl
-ls8L vRAALS 2gsH A- K, @ K, dul
A2 Ky, Ky 2 K, 8. Wil 3 Feln Balths
R HA adld euldlal, dl ag wua-dsa
1A wEAL 6 dotssiHl Ul v A B3I K,
wA K, Had. Bélls »uurllsaa A doissiil

agd, 2 dd 243 K, , K, w K, Had.
(1) HyA,,+H 04 = H;00,, +HAL,

[H,O"]1[HA™]
K, = BIHT (4.33)

—_ — + 2—
(2) HA"+H,04 = H;0g, +Aqy,

_ [H,0%](A7]

o == @34)

4.18.3 iRt ot v sdi WRew
(Factors Affecting Strength of Acid) : i[RsiL
[Adlor wunis, pH yedl asi-l seai urel
elel Moy & duAl yedl yei-yel 2wd 8. g
siReL Hadl [H01] auiR 3 20l wud 8. wun,
gl SRR g €15 ud ? ol AR ue €A, dl
ay [H,0%] 2ul 7 dell K o ¥eu Gl3 au dul
pHri Hed «(13 onu. »iRisd Rl a 2Rl
noidl 2 H-A il gellacdl uR 2uaiR amdl.
F4 FH H-A oit-{l wondl dedl 2 Qi di o
ol gl el Gl uedl ¥, i HA ay
no oi4dl. U H-A it ay ydlu end, ar
H 2 A 222 [Agasoidldl dsiad aad, aal
ai 2ulldl {d 2nuslls ad, o ey disg
Add oindl, ddl ARRsAL audl o9l

wadsnesl As o el dreld Aviddl
H-A 6l woady, Ydld acid el 201
uRon audl. Fu uyerl 1A #S5l du A se
audl, di H-A ol woadl sedl aid 2[R
ol 448l
PERCETRR RS

HF << HCI << HBr << HI

v Vv

B[R4 nelndl afl B,

2l % H,0 $cdi H,S 2iRs quR uom
8. uigd A dadsresd s o dAdHinl drdl-l
yul 503 dl H-A ol yelludl 1Rl womnel
55l 52, Al [@gcomeidl F1 atd ax iRl
wolldl Q. BH %,
[QgcorBLdl 4Bl 8,

CH, << NH; << H, 0 <<HF

v

v

RS uevidlL all 8.

4.18.4 Roin 23 217 Aa-u suu-lse
ANES Y2 A Al AU (Effect of
common ion on ionisation constant of weak
acid and base) : »uudl (el 2iRs ARRs
2R (CH3COOH) Gelsasl adai,

CH3COOH ) + Hy 0y = Hy0(,+ CHy;CO0 )
»ieqL

HA +H,04 = H;0p, +AQ,

o4l CH,COOH 312 HAc ¥ CH,COO~
slad H2 AcT g5l 30l sl 9.

_ [H;0"] [Ac™]
¢ [HAc]
HIRL 5 L Age-idl Well gl uMA
114 HR1Adl CH;COONa »iadl 3R HCI R
dl 9wy ? 2008 nwuls Agaqni dlvar dy
HCI GR2aul [H,0"] 442 @i CH;COONa
GURdl [AcT] a4 del @ A2[Au-t [Fas Wl
Agetrt UL 38R Aldaq oi-udl Aqan wanis
yey gadl Avdl, el el W Wy @ § dgast
1ol oy g Hieud in dell HAerl disal aual
ed & ARACBA RS WL aydl, i dddl
[H,0"]i wa1dl adl »ed pHui awil adl. HCI
GilRaEll Had [H,0M Ll wigdl asael wug o
uReuy g, s 2R Folon AR [E- u
AL Al AR sdu B,

K (4.35)

2 o Wl el S0 NH, UL wia-lszasdl
ousidMi Wel NH,Cl %<l 1= 63 [NHj] <l
dl @ A2Rur-u Fd wuel [NHY] audl, dddl
gt 316l oy A 2 el @D NH,a43l
wed % [OH] @2d. uReud pH wedl. L i
AU 208 A s el i s
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ERDT BT

16l 17 : 93 % 0.1M CH;COOH ARis-it
glaRii 0.1M CH;COONa GHReuMl 21d, dl dril
pHML 4 &2 usdl ? CH3COOH =2 pK, = 4.74

B34 : uud W A (CH,CO07)-l
dreedldl Fola 2iRs w2

[H,0%]=4K, «C
pK, = 4.74
so—log K, =474

o logK, =—4.74 =5+0.26
K, = Antilog (5 +0.26)
K,=18x 107

~[H;0*1=4/K, +C,
= J1.8x107° x10™!
- J1.8x10° = 1.3416 x 1073

o pH = —logm[l-l30+]

= -log,,(1.3416 x 107%) = 2.87
¢d 0.IM CH;COONa GHai 2ud, di

_ [H0"][AcT]

s [HAc]
_ [H;071[0.1]
T [0.q]

Ac~ = CH;COONadidl duidl Ac ™ i
HAcril [adlnidl Hadl Ac™ 2udd ay, ig
HAcrl [@log-gl 3odl Ac ™+l Aisdl 0.1M

K

(4.36)

CH,;COONa #igl #adl Ac ~ (0.1M) uRvuxsllau
waoell usd, Al Ac” = 0.1M 4 ws,

5 [EOY =18 x 107
- —log,,[H,0"] = pH

= —log,,(1.8 x 107°) = 4.81
el A AL B 3 AL U] B

o vl @Al 82 B, Aed ¥ [H,01] u2
B, w2 pH all B

gl 18 : 1M [l A NH,OHML
0.IM NH,CI GHreuxl 2ud, dl siasi-il pHAL ¢
3 4w ? NH,OH-l K, = 1.77 x 1075

634 : Gua wEl A [ela ddx-u
vul5w- AN LS A58l sl et el LAl
s, wlRewdl Aadl A4 yell wd wudl,

NH,OH-l Sl2¢1%304i 0.1IM NH,OH+
pH = 11.13, 0.IM NH,CI-l s1%34i 0.1M
NH,OH-L pH = 9.25. U4, »i Gewsaw euld
® 3 [ela Adyeil qigeil pH A 2iunl

Y T S T §
G HYc

A
i CALN .

4.19 aRryg wnfEeuy U\ du-l gav-dl pH
(Hydrolysis of Salts and pH of their
Solutions)

RS 2 A5 Flad wreml ddienaudl
R MO B, i g WRllHi 2ouadl 2iu-lss
Wi B, RS wA A8 uea vaa Fela da,
dl {3 WML &R MO ®

g PR R LT Geigm
(1) ¥ W d2 d2  [NaOH + HCl — NaCl + H,0
2) wia Fieia CIEIRE RRs [HCI + NH,OH = NH,Cl + H,0
(3) Fela Hoin olls 6% |CH,COOH + NaOH = CH,COONa + H,0
@ Fela | [ela | deret »ma| dees @@l CH,COOH + NH,OH — CH,COONH, + H,0
1R »IRRs |HCOOH + NH,0H = HCOONH, + H,0
»ual A3s| @ua afks|CH,COOH + NH,OH = C,H,COONH, + H,0

U A% i Nelol BRui] eiden s
Az Sl 8. W2 dudl pH 7.0 €1 9. sl
NaCl uig uein iR 2 Fola ssomidl siddl
a1z MRARs &S dx-l wdly glasi-l pH, 7 sl
»9 U B, eld. NH,CL A o wudl Fela

VRS A uen Aspuidl oiAdl aRr AlBs €l
B A adsl wdld glerll-l pH 7 Sl a4l €lu
8. tl.d CH,COONa. »i14 adi 5128l &R well
Al uBul s walacuy--dl uBu 53 9.
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gafacuy-ulEu usl Aga--ulu 8, dal
arl i3y Agart »aais el usy ¥ st
wAnis (K,) 58 8. 2wudl Mol 2R 24 woa
Al &R (eld. CH,COONa)-il Gelgamell o
RECINETIEER

(1) Fola »iEg 24 wool AdAndl &R
CH,COONa ™12,
CH3COONa ) + HyO () =

CH3COOH 4+ NaOH )
_ [CH;COOH][NaOH]
b~ [CH,COONa] 1)

(2) o AR Fola ador s (sld.,
NH,CI) %2,

NH,Cli,)+ H,0() =
NH,OH ;) + HCl )
_ [NH,OHI[HCI]
h ™ [NH,CI
3) R 2R 24 Fola Ada &R
(eld., CH,COONH,) #i2,
CH;C00NH,, + Hy0() =

K (4.38)

CH,COOH ) + NH,OH .,y
[CH,COOH][NH,OH]
Ky = (4.39)
[CH;COONH, ]

UG K, Kl vieawa sal 8. adl K-
13 esudal Yol Guaadl as :

8IR qufacuar wanis (K, ) glagidl pH
uoin, R-Fola as K, = K%(b = % < 7
Fuela iBL-noa 6o Ky = K% = % >7
R I %E)H_] -7

ul C, ar-dl . disw D.
N a1l WS YRl d-il wedly glaet-l
pH augll usa.

gl 19 : 0.1M ARun ilude
(CH,COONa)-iL el giaeidl pH oLeil.
CH,COOH- K, =1.8x107 &. K =1.0x107 &.
Ga :

CH,COONa, ) + HyOp) =
CH3COOH, ) + NaOH .y
vl
CH;C00, ) +H,0() =
CH;COOH ;) + OH,

aq)
K, = % = % = Sox10-tY
—
Wy K, = [Ogol
55 % 1070 = [0(})1;]2

~[OH 1P =55x%x10"" x 0.1
=55x 107"

s [OH 1=+/55 x 10!
=74 x 1075
¢d pOH = -log,,[OH 7]
= —log,,(7.4 x 107%) = 5.13
pH = 14 — pOH
- pH = 14 — 5.13 = 8.87
4.20 %152 siael (Buffer Solutions)
el aleHl el cdldl dar daust Fe
g (fluidyit pH @oedl Flad €l 8. 2 2
pHHL 33§12 i, di adlanidl Faiuuls
Wi 22 4did 8, vy aldl s
wA FauAaaBs uBalyi pH RBud € 9.
Fu% el anddl pH 6.4 €ld 8. 3 GuRid

Sllil sldflsdiRs 2@ Wal &u O, %
waABumi vee 53 8. wsd wam-Aul o pH
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Ruulasuq

Ml vl 20d 8. 20l ws an 9 3 516
glagmi pH Mbuad 56 dd el asy 7 24l
glaellrl ols glaell s& 8. -l eyl 1A wmel
>l sy e

“g aaelil 2eq wweml R 3 Ady
GRRML 209 vl A gl well @} e s
20 ANRL A du-AL pHHL 4dl 32810 wlasR
52 8 A pHY 3 aaepl v @ 8. dal
glaglal 6152 glael 58 8.7 6g aldell »IRRs 3
s &S w¥ 8. A Fela iRl pK, @
ol Sl pKy a2l &S, dl sud pH @i
052 glaell oiriidl usid. ois glasl A wwsl
AR WSIRWL &1 U

(i) 235 o152 gasl : Fela AR w1
Al ot Gy AL st [Fael wRRs
652 glael oiAldl asy.

(i) Al 152 mas : Fela A8 23 d-u
usln S WAL sl Bswel abs os:
glael oi-idl s,

(iii) d2™ o152 gae : Fola $1RS 219
ol Aol deellseiell daee sig2 glael sl
asid, Al SesHl L USIRAL 6§ g9l
sl & ¢

SR It pH ¥
2RRs | CH,COOH + CH,COONa| < 7
A5 NH,OH + NH,Cl & 7
d2% | CH,COOH + NH,0H = 17

2l pH Hauad ogr alagl Al dekdt-
cundeds (Henderson-Hasselbalch) ax1s381-l
GualolL 531 ol-edl sy

RS slael w2

[az]
pH = pK, +log o] (4.40)

ol 2R Felo 2R B, F+l Q-
wamis K, 8 w4 [aur] d sifisi wan adn
wd-l &R+l Alsdlt 8. CH,COOH =i+
CH,COONaril 6§ glagl e avll s,

[CH,COONa]

PH=pK, +log oy Coom

» % wEl olls ole glasl, eld., NH,OH
+ NH,Cl %12 avil as.

[NH,Cl]
[NH,OH]

Al 6152 glaell-ll Gualdl AU, Fa-
AANAURS WBABIAL i A2ARS RUARAL U
sl 2d 8. wnaadl¥A [HCOZ] 2t
[CO?T] 4uadi da [H,PO;] ¥ [HPOZ ]
HRlddl 65 glagil Al 8.

pH=pK}, +log

4.21 ieugied AR gleddl dRUSIR (Solubility
Product of Sparingly Soluble Salts)

vl UG vl ¢l 4 wHdl NaOH
gar -y wsel welui wor o g 8. d
saidl el wld wa ¢4 O, 2wl LiF sl
Ay weledl weldi 29 gt § A CdS
gal By Aol uelui deol vge 9,
ael yeidldl 200 sz uidl asi.

UsR 1 Yaied 1 ¥ ueildl welii g
0.1M ¥l a4 €. eld., NaCl, HCl, NaOH

usl 2 vigied ¢ ¥ yeledlfl welui gieud
wicid 2019l €. el.d., CdS, PbS

UHR 3 Aeugld ¢ % uelel-l weldl siead
0.01M =l 1l €1y, eLct., AgCl, BaSO,, PbSO,

welds{l sleddil 2uaR dxll AR sireedl
v pdlase-iuel] ur owdl B, ydlasm
vl dRu A-enell sl a4 €l dl ueld
el gion . ol sieid A & 3 Jelly weal
gella gl 2000 8w wigdly ueell wydly
glasiii »ad 8. eld., NaCl gdl ydla uewd
well Far gdld glasdl 20aq »1q AWl gl
wigdld ueld AlfBn Fau vydly glasdi sl 8.

veugiey IR ol UL UHRHL Sl €1
avl weld a9l Agat HAL B . Fedl
usid woddl i B A Ayel 2wulsa wid
Sld B, G Vgl MR L Adart HAALS AU
arll gioddl uR HdiA 2udnl SReAL 2iea 538



Agar

121

vieUgd ARl sleddl ABUSIR wYNLS
3l 3 2uudl AgCl Fal vieugied ueteld welli
o]l de Agul gwasl etudlal, A Al <2
wnEl-dl w4 Aga- @wsl.

— + o
AgClyy = Aggg +Clgg

B
Agar 295 K, = %

Yo ul verd W2 ddl Alsdl a-l ada
Sl 8 v FMAd dsd addl Rl daed
geirll Algdl w0 ol as. Al

4.41)

K * [AgCl, 1= [Ag"][CT7] = K (4.42)

%l Ky, Aetisiod 81z AgCIHL il 2RusiR
wanis B, dd WAL sleadl deusie ddly el
salaai 2ud 8. ¢d 2ld diusn Agh »iR CI™
wardidl Alget «ssl s3BL dl sleudl ARUSIR
iyl asid, 298 K diudid AgCl-l gieddl
i3 x 107 M wsud 8, qdl

[Agt]l=[Cr'l=13x100° M

- Ko = [Ag*] [CI]

= (1.3 x 10%) (1.3 x 1079)
= (1.69 x 10719 (e [Mex™)?
wudL M2

gleddl ALMHL A58l sl €, L 2ulEay
el ad ofld Aadl usy.

E1MEll 20 : Mg(OH), A g stciixdl sl
298 K diuHid 8.2 x 107% s [ex™! aeus ©,
dl Mg(OH),-l K, 218ll. Mg(OH), %y ea
58.0 A Ha™! ©.

634 : Mg(OH),l sl 8.2 x 107*
A Re! 8.

Mg(OH),+l sicudl Al (e i

82 x 1074
58

$d Mg(OH),, = Mgy, +20H

=141 x 107° M

sl [Mg?] = 141 x 107° M a3, uig

[OH™] =2 x 1.41 x 1075 M 1dl.

el Kp = [Mg?*] o] yHIEl,

Kgp = (141 x 107) 2 x 141 x 1079’
= 1.121 x 107 M? udl.

AR AU WSR2 Al K, el
Aqoaai Yoll AA wHel o ¢

R [ Gews:m Kp Hi2g 3t
A WsH
1:1 | AgCl Kp=8 M
1:2 | CaF, | K;=48 M
2:2 | BaSO, | Ky, =8 ™
2:1 |MgOH), | K, =487 M’

ui § = gleudt M Rz ul vaa M.

% gLl AHAHL U Eld 24 se [l
wile dld, dl gleddl wM [@eHi aell gleusit

-

afByy e 9 eudlld gidl Wia 237! waar
M isHui dadl asy.

uglt : AL welel-l glad ARISIR WHi
Yol dal s eald

AgBr, PbSO,, AL(OH),, Bi,S,
Zry(POy),

gleadl dpRusi-l GuABiar

(1) slodcl ABUSRAL Hedl nedl €3, dl
glaridi el weteli-l gieidl wvidl wsiy

(2)  Slod Ueld- vigiod Yelelil Hadu- ud 3 AR
d uel -85l 530 Astd. FHS AgNO;-iL Slag8Ii
NaCl GRdl AgCIHL a8y 40gl dd melq
8. 1 W2 dlial AgNO, slamil Aisdl
el [Ag'] M sHul Aol wiA BRIl
NaCl-l gl well [CIT] M Lsuul dadl.
el 9JRUSIR 3L, 1L ARUSIRA 2Uu~{lY 2RUSIR
[ add ealdl 2 A 4@l d K
Hey A8 AL, 22 ASHAB B, FA 23U
ol [Ad wgsud s as.

M I, > K, 0o e »19dy Hadl 2aal
gy 2dl,
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=uualasn

() I, < Ky, Aeugior aurel ady yad AR
vyal adiud 49 R,

i) I, = K, @ga sald 8, 2 vafiud ud
A8, uig sla9l At vdRUUL
84l

4.22 vieusicd &l gleudl Y A 2uusHl
U (Effect of Common Ion on
Solubility of Sparingly Soluble Salt)

BlEUGLA BIR SlaglHl Fedl 2ol did 8,
A el o Aysludl @UFA 23d S 2uadla
13U €l B, ddl d we [@Qgaldeusy 8. Ul
AUABLS A3l UMD Al 22 ¢ AR
Fra-l GualBidt adlz-l weurt 531 asi. Adet-
wAnis Gl d M YR MR AU YR
S uel [ud i de yed Flad 8.

Bl 3 AgCl el euglod &ieil gl
KCI %l gl vuus{ly uewd GRS, L g ?

AgCl,, = Agg, +Clg,

KCl,, — K +Clg,,

dqariul wWal AgCMidl vaal CI™ Gurid
KCIHL 2yel vua-lseel CIm viuq wad, Fel
Cr{l ga digdl a4l odl. del a A2l Fux
UG DL U AUOE 5L il Al AAALS
ey [Alad Aval = Agdn sl dre vl
»2d & AgCl etrtdl. ol wegldl sdla, dl AgCl-l
gl ®aldl ad. AgNO; sl G i
AL Aghel AL oy el L % wReuN
23, dled 3 AgCl-l gleudt u2dl. uell sél
ASY 5 gl ARl gloddl U AL 2]
A I8l Al gleudl 82 B, UL AEUGIA HIR
ay waliu a8,

BUMAL 21 : AeUdAH QIR Mg(OH),sl Ky
Y&y 208 K diudid 1.8 x 1071 M3 &), o daii
0.1 M NaOH<, slasl GHaMl 24, dl
Mg(OH),{l gt 9 4l ? uReunsl 2l 53

G4 : vieugie &R Mg(OH), 2:1 W5l
g €y K, = 48* udl. %l S = Mg(OH),+{l
Algdl Hie [Re i

€d K, = 487 ». 1.8 x 107! = 48?

o <’1.8 x 1071
4

= 1.65 x 107* M.

2418{l, Mg(OH),{l wiellai sicclt (NaOH)HL
JR&IFIHL = 1.65 x 107 M ugl.

¢4 0.1 M NaOH-{l s1%313i OH ~~{ tigdl
NaOH-L 20yel suslsaaell wadt OH ~l izl
dal Mg(OH),-iL iu-lswiel sdie OH -l
Yigdldl AAAOL GRAGR A, UG Mg(OH),l
gleddl 20l €18 dw suu-lseel Haa OH ™
{l Algdl NaOH-L slaemigl Hadr 0.1 M OH ™
<l uvimelil a0l asi; dell,

K, = [Mg?] [OH T %2
1.8 x 107! = [S] (2 x 0.1)

1.8x 107"
4% 1072
=045 x 107 =45 x 107'°M

H, UM Ut OH | dredlHi meugien
#1R Mg(OH),-l fieudl 1.65 x 107 Ml gl
4.5 x 10710 M 48, un, ML Ul 2R
dlf weugion ardl gqeudl w2 8,

- [S]=

Al iUl AL GuAlol dRLLALS
yussenl Ws wun-dl awddl ollwm s
vgled ol el 53 wsiy V. dal Buaeiiiqu
gesill gleddl "atsal M uel d-l Gualal s
wsL 9. IBlcHs yussWAD ol U el
Higulldelldl Ues1Sdel gleddl dRUSIR delu-ol
Uyl HigoUarial Mestdsl gleddl jRusR+{l
vyl e 8, we ofln WL udlaeril

H,S %0 GHdi udai HCl GRrami 2ud 8.
2—
HZS(aq) = 2Hzraq) +S(aq)

+ i
HCl,,, = Hygy +Clgy

Addr U HCPRiY]l dadl HY vias aMis
A A GuAMd B ST uaqHl Aisal
g2ld O, ddl ollw weril wuAdAl HigpEHl
il AesSS dds H,S o GARAAL 2adu-t Wi
B, SIWL & U Hig USIHL SIHAL-ORUSIR 8L
ol B, 2 % WML gelu-a AL e
sy 2 NH,OH Guid NH,Cl (+[fs
wHRi) GRRari »ud . NH,OHi#l Had
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OH ™l uisdl NH,CRisl Hadl A1 NHjA
dld w2 8. we gdlu-at AqeHl wiguaHdl
SIOHSASS dld 2adiud Wi B, 518 3 durll
UG SIOLISALSS UL Glocll ORISR HEdl
{lai 8. » Guid NaCl-il Agud slagi HCI
Al YR sl WML Uy CLel 2 dlf
NaCl gl ol wady 30 9 W 8.

w wAlnd 330 8 ¥ Jeens ARSI siudl
gead oed al 8. Folo iRsw awd Fa 3
slrdz ARl slaudl AR GAaEl . pH
gasatell all 8. i SR8 A B F sikge s

SIRMIAL HT il ddeas Wl dadl iRl
. 8, ddl sikde aud-l giudl af ©.

AN

waldliiofl oMl Aol QL i oy viazanidl naldl el wdl
vRill Avyl wvll Ay AR Agad _WAL B, dH sdaldl wd 8 A d Alkella 8.
ollls vid AAUELE AR ol UsIRAL WBUNUL Agat wRld @y 8. viL 44 yAeuHl
i Wil WEaAL Qo0 ML wd 8. Agdrt wAnls KA usi-l algdi opusiea
UBUSIHL Algcirl oeusz Al ewoldl wodl oelazel sulan 8; 9l edsdl wlgdd d-
By dRlisd widis adld ealaqidl & 8.

WFul aA + bB = cC + dD u2

< . eror
¢ [AFBP

ddar Anis Fad duind Flad qed € 8 i 1 deisd e (macroscopic)
gl Fal 3 Aldd, sowel BR wAN A B, AgHL ABW W2 KA ¢ed K, dan 8
e Algdid oed Ay UBASL A luddl wils s sulad 8. Ko @A K 92l
ol K = K, ®RTY% i eulam 8. uBa &8 Ruvii (youdl 3 wRowsl) ag, d
edlaal W2 UBAL awsa QF Agadt Aanl KA oRiR € 8. d-dl a3 eulay 8.
d N2RR-A Reid suld 8 3 Adadl Wl A wel uBUA 2R sl uRoel Fai 3,
Algell, cluHi-d, eoldl adHi 38R 53 dga-n wadd ususaEi »ud, dl g idl
Rauui wal wuet s34, el sal 381l 2RI AL 2l vual ARad 53U 2 1A
Adarl HHAnis qer el -8, il Gualal Gellolmi Agad ddl Ad wied 2wy d =2
%33l Algl, eousl, duAd FFY Ay a9} @ e 530 wslA. Geloll wEusdl {luy
dzs (Sl xRl ars) uBul onu d wauel wReolal dasiR 530 aslal wyal FEse yel
531 Al GeElusHL Gualal saimi 2d, dl Hiel MBI 49t add]l aslal ol ed uBul
Hi2 aldl qud galdl wdlal; uig AlsdiHl ¥ el 2% w4l <R, s ¥ yRudl il
wlwoudl oid uBal u syl HuR usd A ddl Agad wAais sl -E.

% ueldldl ey qasl ddenidl Regdd ded vl e 8, A RadRsuery 58 8.
R, A6 A MR RgdfReus 8, s 3 dudl wdld glag Redy asd 52 8. Rgdd
agr udld siR8l [@galcusudl wdla gavdi @alo sual sua-lsael Goun uldal
wiadl RAgduaed deq 53 8. nen [AgdReusy Ayel RAFC adal du 8. sl Rela
[ealacusy »yel RABA wddl & 8; ddl dudl Al 2 AERDPrd il ad
Agart @ B, A vuudly dgad sd 8.

sid Rl sialse-Rigid el e 2dqd HY) 208 4 vl 1R 21
SISAERIE iad (OHT) 20l A o sl »ud 8. diRds-didl Rigid wHdl iR
WAlAeldl wd ddod WAl (uas) dadd apaild sda 8. e AR Al dyou




124 umafdsu-

A8 2 €35 AR d-l AyeH RS Eld B, el dA AYPH 2AR-GSBAE dd vl
WA 88dle dF ua el wsa, WAl we viR-6E 4Rl 43wy B,
ML ol sl oliRs-diRlHl @yl ay AR B, gl cval wudl 2R
ved Adl uel ¥ SAsgiayon sl A Ay wed Adl uud ¥ SAsgiyen wd.
2 ool SR-AS Guald sl e, dslel g el @y wil ass, Qi
Ad udadlyd el 2udl. suadlsel sanis uel Agan unis 8. Fola ARk waa
ddo w2 iudlsael waais K, sHadl K, 458l sy asi Rl Algdid
pH = —log, [H,0%]ad ealldl s, el AR-616 M2 pH WusH s8]l s vl
2L % WHISL pOH = —log,,[OH 7] dail wislll 2iu-ls81 ousiRa pK, = —log (K, ddl3
euldl usy. pK,, = pH + pOH = 14 2is{t-il Gualloel [H,0%] aal [OH 7]+l awiddl 53l
aslal. pH < 7 gla2l RiRs, pH > 7 gld9l 6s, pH = 7 «ld@l de?d,

orel-ofel &l Ul 3 [(Felon RS 2 woia 3 [Rela Aot dexellseiell Andl asiy.
wldl ARHL ARRS, As A d2y sl WHIAN WA B, il &R wud wel qd
gefluso WU (galdoun-) 53 8, cu? gael RRS, Als & deel 1d 8. L uel Ada-t
WU @S dl 3w Agadt vuals sl 50 ws, ¥R waleus s Kl
sallacil 204 B, K sl vifiad wudl K, »13 K i 64 Aadl pH w1441 pOH
ol wslal. eals Hal alael 8, FHi sieununl RS & Ay GARAL »adl A Hed
sl ddril pH eledldl «l, 2ial glasld os gasl s& 8, ¥ ARRS, ks dal de
Wil €18 uh 8. wuel udi-l F@s uBuil AxaRs Gl 4| wBui-l
Feise w2 pHy [aser o 9.

vieygied alRA (FH-l weldl sieidl 0.01M ol 20l €la) weldi slouadi d d-l
gl WML wew uHRMEL g 8 i Agaq wAld A O, 2l i =2 Agad wANiS
Hadl wdlol, B vleugion &1xil glAldl ARSI HAALS AL Sl ARSI S8 B, Vieuglod
allRell 2idart UR UM Badsl B, AR 2 adlRAL viedwy @ A2yl FRuy aey
wdl sA wsE. werd dd g ARl giedl AL sl 24 I8 12 8. Ukl
GuAloL ABUALS YUSSRRIHL sAML Ud 8. 6 glasld Bl saeell sady ol 3 4R dsg
WssAA BUsAL Algdl ARUSR T, L dlcudl Jeusiz K Wl wavudl asi v wissus
sl s ot > K dl vadud i (3a8u 1d) 2 1< Ko €, dl #adu-d 2l

AR 2 A I = Ko dld dl siagitiell Aafuq o A 2 g8l A veral 6.

Y

1. 2l aglaseunidfl dou Rsen vaie 4 :
(1)  wwales dga-

(2)

(A) alalla &,
(C) auldella iadl el il 9.
AU Agant Gewsel B,

(A) CaCO,,, = Ca0, + CO,

5}

(C) NZ(g) + 3H'Z(g) = 2NH3(s)

(B) @R »idrul 9,

(D) Gurumiell s wsl «le.

(B) NH,HS, = NHy, + H,S,,

(D) Hzo{l) — Hzotg)
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(3)

(4)

(5)

(6)

(7)

(8)

(9)

(10)

AL ADorluiell g iR osudl,

(A) HCI (B) CH,COOH (C) H,0 (D) BF,

H,PO; »ifus-ll 2yon e amudl.

(A) POl (B) HPO* (C) H,pO, (D) H,P,0,
NH, 1 sal Rigid 338l 66 4 sday ?

(A) slii=2s-dil  (B) ¢du (C) »udfun (D) Guaruidl s wel -l
518 weL uBumi 2adud R g w3l 8 7

(A) Iy i K (B) I = Ky (C) I = K (D) K, » 1
eyl gl glodcdl dMI A vl

(A) s & (B) ad 8.

(C) »naa W B. (D) vor o atl wu 9.

a R2laudl Rgia dawy wil ws 8.

(A) &5 AwARS AganiA

(B) &5d wuu-lu Aqe-iq

(C) uuls 2 wuy-lu dga- oidq

(D) Guz-lL oL o

$Rs slussd wellu glav 34 ¢ ?

(A) als (B) dz (C) »iRRs (D) £l asy R
AR Aqanrg Hew Gelus-l Gualaell

(A) a4 8 (B) a2 8.

(C) »am W 8. (D) aB ual 42 8.

DA wali gsHi Griv 20 :

(1)
(2)
(3)
(4)
(5)
(6)
(7)

K, i K a2l 2ieid ealdl.

UNARLS At U Aisdldl 28 asldl.

uell-t suu-la opusied Yot avil

youdl A wloudl ulEur e ddaq vamis azd-Ql deid asudl.
udHun Rgla yorer RS 2 Al vl quil.

g VRGOl vl @vil,

Ayon RO Rigia dlow Gersa 2l ealdl
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EETU BT

(10)

loddl ARsR A vua-dly dpusiRedl dein ealdl

ARBS a-L wellusel wANis 2 [QalE 2aais, well-d 2uaHly gRusiR
doin ealdl.

AP ARECASH 2 AYH SRR A28 Gergell gvil,

QA0 wsir B gl :

(1)
(2)
(3)
(4)
(5)
(6)
)

(8)

(9)

RS A Ad WSl ABwAs wA dseudly vl ogudl
Folol AR Rl sanisd Yot Guadl

Fela Aol Raleqt wanisd ya Guamal,

dgan-aanis K, @i K, 2@l el Aadl,

Vg 4R CaF, HI2 4loddl ORUSIRY Yot BuaAdl.

UM 20 2R+ oRiedls yassaaml Gualol ealdl.

olg={l vyl L, IRRS, GBS 2 d2 615 glaBl QoY Gelgel iyl
Ayog1cl,

sli-ees-dldl gdu 2 &S ud un oul o ¢ou AR did-sliees iR
uRl @ld. dlou GelgRnl Yl wHeAdl.

welldl »uasly oRusid Yot Guaal.

(10) [elo AR Ao saais wrel glae-l pHHl aw@dd 2ieadl.

DA erwenvi ol :

(1)

(2)

(3)

(s)

2l glagl-it pH 1 pOH 218l :

(a) 0.1 M HC], 0.1 M H;SO,, 0.1 M, HNO,
(b) 0.1 M NaOH, 0.1 M KOH, 0.1 M, Ba(OH),
Al glael-Al pH 2@l :

(a) 3.65 WM HCI Wuag 250 [l giae

(b) 9.80 3ux H,SO, 4uad 500 [l gias

(c) 1.6 M NaOH H2udd 250 [l glan

(b) 11.2 3u4 KOH 421lag 500 (fa siam

6 wH ARRs RS wRladl 250 B gaedl pH ol ARERSs LR
(Gl wumis 1.8 x 1075 8.

7 ad BHIFAN asfisuss vradl 500 Bulé giav-dl pH 2wl sFHuy
SlOdisuIS-ll Rl 2Anis 1.8 x 107° 8,

AAlSs Rl Rl vAnls 298 K diudidl 6.5 x 10759, dl d-L 0.15
M glagHi H,0" 2uundl disdl @4 pH dean ¢d ?



dgan

127

(6)

(7)

(8)

(9)

(10)

(11)

ASFude -l Qe 21005 298 K diudid 5.4 x 1074 9, dl d-u
025M qiadi OH™ el Aigdl 2 pH kzen g9l ?

s RS 6§ qaul oriadl ¥z 0.25 M ARRs AR giasdi 0.125M
ARuH 2z Gl 2uel. % ARy iRl Ry »aais
1.8 x 107 €, dl U 6§ gLl pH 324l i ?

25 GBS 6g @ael o-iladl M2 0.125 M AFud elsiisussnl gianmi
0.250 M {IMay sel6s GRaal el ot AHlMus ¢logisudsdl Qe
wAALs 1.8 x 1075 &1y, dl L 6152 glavdl pH jedl < ?

10 B 0.06 M AgNO,-il sidgidi 20 R 0.04 M NaCly sl Gaeudi
e, o 298 K drdinl AgCIHL gledell Qeusik 1.8 x 10710 iy, dl viagiun
gl ¥ AR dd wssuaq s

20 Ml 0.05 M BaClLL sia@ii 20 Bild 0.025 M K,CrO, 7 siast Gl
2%, % BaCrO, N sledcl 2RUSIR 298 K divdil 1.2 x 10710 €1y, dl »iasiun
gl 3 AR dd uwssad s

0.1 M ARuM wARze-Al wulaeiln-t »unis dul sl pH 2Rl 298 K
diuid ARRs RN QA xanis 1.8 x 1075 244 wiell-l 2y
JRusR 1.04 x 107148,

0.30 M NH,Cl siasi-il waldcus-i »anis dal i pH o®il. 298 K
dlwdti NH,OH (3l saais sd wel-dl suu-dla oeisiz sisi
1.8 x 107 w4 1.04 x 1074 8.

10 (M@ 0.1 M H,S0, 4ladl glagii 20 Mfa 0.1 M HCl GAami wuedl,
dl uRBRiidl Fsisias-dl pH dedl ed 7

10 AR 0.1 M Ba(OH), 1l sieRidi 20 Bifd 0.15 M HCI GHrauxi el
dl wRerdl Feglaadl pH 324l el ?

A A @7 waais 298 K dudial 4.27 x 1070 €, dl d- dyon
RS @ vaals dedl udl ? K = 1.04 x 107

o WRRs Rl QA AANis 298 K divmidt 1.76 x 107° €, dl d-u
Aor olda-ll R 2anis dedl 4l ? K, = 1.04 x 10714



